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Question Id : 9209066069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra’'s MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJPs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena's constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key player in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Rebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other critical actor in defection is the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC's stance is very clear. The
rajyvapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The word meddle refers to:

(1) Mediator, who brings about an agreement.
(2) Medial, that is situated in middle.
(3) One who interferes that is not one’s concern.

(4) Meek, one whao is gentle.

Options :

92090624001. 1
92090624002. 2
92090624003. 3
92090624004. 4

Question Number : 2 Question Id : 9209066071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090624005. 1
92090624006. 2
92090624007. 3
92090624008. 4

Question Number : 3 Question Id : 9209066072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements read the following statements:

Statement [ : A floor test is not the platform to resolve interparty dispute.

Statement 11 : The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement I1 are incorrect

(3 Statement [ is true but Statement I1 is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090624009. 1
92090624010. 2
92090624011. 3
92090624012. 4

Question Number : 4 Question Id : 9209066073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090624013. 1
92090624014. 2
92090624015. 3
92090624016. 4



Question Number : 5 Question Id : 9209066074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B} relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(DD based on such reasoning which were denying the truth by asserting the opposite.

(1) (A), (B)
(2) (B), (C)
(3) (A), (C)
(4) (B). (D)

Options :

92090624017. 1
92090624018. 2
92090624019. 3
92090624020. 4

Question Id : 9209066069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Label : Comprehension



Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key playver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other ecritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090624001. 1
92090624002. 2



92090624003. 3
92090624004. 4

Question Number : 2 Question Id : 9209066071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090624005. 1
92090624006. 2
92090624007. 3
92090624008. 4

Question Number : 3 Question Id : 9209066072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090624009. 1
92090624010. 2
92090624011. 3
92090624012. 4

Question Number : 4 Question Id : 9209066073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090624013. 1
92090624014. 2
92090624015. 3
92090624016. 4

Question Number : 5 Question Id : 9209066074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered WNabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090624017. 1
92090624018. 2
92090624019. 3
92090624020. 4

Question Id : 9209066069 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Mumbai message

Shinde survives.But SC makes clear party has primacy over legislative wing- big
implications.

A constitutional bench of the supreme court vesterday ruled on the legal complication
stemming from the fall of Maharashtra's MVA government in June 2022. The current
government comprising BJP and the Eknath Shinde faction of Shiv Sena is safe. Yet, the role
of then governor BS Koshyari in the formation of the government by calling for a no-
confidence motion against the government erstwhile Udhhav Thackeray-led MVA has been
severely criticized by SC and declared incorrect. However, as Thackeray resigned before the
floor test there is no legal remedy availahle now the bench said. But it's still a consequential
judgment that will henceforth be used to judge the legality of defection-led changes in
government. SC has used the constitution’s tenth schedule —meant to prevent opportunistic
defections- as the reference point to reach its conlcusions. The most important one is that a
political party is superior to its legislative wing. The whip on voting represents the will of
party, and not its legislators. It's the party that appoints its whip and the house leader. It
means political parties how have a greater degree of protection against defection by
legizlators. This may mean that the current Maharashtra assembly speaker, BJFs Rahul
Narwekar, connot rely on just numbers but has to use Shiv Sena’s constitution to identify
the party's whip and leader to decide on pending disqualification proceedings. The speaker is
the key playver in the tenth schedule. Here the SC judgment is not conclusive. It referred one
of its relevant earlier judgement (Nabam Hebia case) to a large bench because of
contradictory reasoning”. In the interim, it’s given the speaker power to helm proceedings on
defection, subject to jusdical review. The other ecritical actor in defection i1s the state's
governor. Here, SC has once again emphasized that they have limited discretionary power
and cannot enter the political arena. A floor test is not the platform to resolve intraparty
disputes, which is where Koshyari's role has been crticised. The underlying principles on
limited discretion also apply to governors elsewhere. This judgment should be read by all
governors who see their role as meddlers in executive affairs SC’'s stance is very clear. The
rajyapals should take note.

Sub questions

Question Number : 1 Question Id : 9209066070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The word meddle refers to:

(1)

Mediator, who brings about an agreement.

(2) Medial, that is situated in middle.
(3) One who interferes that is not one's concern.
(4) Meek, one who is gentle.

Options :

92090624001. 1
92090624002. 2



92090624003. 3
92090624004. 4

Question Number : 2 Question Id : 9209066071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The Supereme Court criticized B S Koshyari the then governor of

Maharashtra in its ruling.

Statement 11 :  There is no legal remedy available now as Thackeray did not resign

after the floor test.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement 1 and Statement [l are incorrect

(3) Statement [ is true but Statement I is incorrect

(4) Statement [ is false but Statement I is correct
Options :

92090624005. 1
92090624006. 2
92090624007. 3
92090624008. 4

Question Number : 3 Question Id : 9209066072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements read the following statements:

Statement I : A floor test is not the platform to resolve interparty dispute.

Statement 11 :  The principle’s on limited discretion is applicable to governor B S

Koshyari only.

In the light of the above statements, choose the correct answer from the options given below :

(1 Both Statement I and Statement I1 are correct

(2) Both Statement I and Statement II are incorrect

(3 Statement [ is true but Statement Il is incorrect

(4) Statement I is false but Statement II is correct
Options :

92090624009. 1
92090624010. 2
92090624011. 3
92090624012. 4

Question Number : 4 Question Id : 9209066073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Discretionary power means:

(1) Power to rule lawlessly.

(2) Power to protect people of all religions.

(3) Freedom to do thing as per law or rule.

(4) The power or freedom to decide on a course of action.
Options :

92090624013. 1
92090624014. 2
92090624015. 3
92090624016. 4

Question Number : 5 Question Id : 9209066074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Supreme Court reffered Nabam Rebia case to a larger bench because of contradictory
reasoning means the case was:

(A) relevant earlier judgement, of a High Court.

(B) relevant earlier judgement of a smaller bench.

() based on reasonings similar in nature.

(D) based on such reasoning which were denying the truth by asserting the opposite.

(1) (A). (B)
(2) (B). (C)
(3) (A). (C)
(4) (B), (D)

Options :

92090624017. 1
92090624018. 2
92090624019. 3
92090624020. 4

Sub-Section Number : 2
Sub-Section Id : 920906192
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209066075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

(1) in intelligent manner
(2) in an honourble way

(3 As a dark horse

(4) 1n 4 couragious manner.
Options :

92090624021. 1

92090624022. 2

92090624023. 3

92090624024. 4

Question Number : 6 Question Id : 9209066075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Your behavior is not ericket means you have not behaved

(1) in intelligent manner

(2) in an honourble way

(3) As a dark horse

(4) in & couragious manner.
Options :

92090624021. 1
92090624022. 2
92090624023. 3
92090624024. 4

Question Number : 6 Question Id : 9209066075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Your behavior is not cricket means you have not behaved

1) in intelligent manner
2) in an honourble way

(
(
(3) As a dark horse
(

1) 1n & couragious manner.

Options :

92090624021. 1
92090624022. 2
92090624023. 3
92090624024. 4

Question Number : 7 Question Id : 9209066076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept
Options :

92090624025. 1
92090624026. 2



92090624027. 3
92090624028. 4

Question Number : 7 Question Id : 9209066076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1) Grant
(2) Agree
(3 Permit
i(4) Accept

Options :

92090624025. 1
92090624026. 2
92090624027. 3
92090624028. 4

Question Number : 7 Question Id : 9209066076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “PROHIBIT” is:

(1 Grant
(2) Agree
(3 Permit
(4) Accept

Options :

92090624025. 1
92090624026. 2
92090624027. 3
92090624028. 4

Question Number : 8 Question Id : 9209066077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The synonym of the word “PATRONAGE" is:

1) Donation

i

(
(2) Support

(3 Espionage
(4) Beneficiary

Options :

92090624029. 1
92090624030. 2
92090624031. 3
92090624032. 4

Question Number : 8 Question Id : 9209066077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE" is:

(1) Donation
(2) Support
(3) Espionage
(

1) Beneficiary

Options :

92090624029. 1
92090624030. 2
92090624031. 3
92090624032. 4

Question Number : 8 Question Id : 9209066077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The synonym of the word “PATRONAGE” is:

1) Donation

2) Support

[
1

(
(
(3 Espionage
(

4) Beneficiary
Options :
92090624029. 1

92090624030. 2
92090624031. 3



92090624032. 4

Question Number : 9 Question Id : 9209066078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
(4) No improvement.

Options :

92090624033. 1
92090624034. 2
92090624035. 3
92090624036. 4

Question Number : 9 Question Id : 9209066078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.

(2) A majority of students believe that the examinations have been necessary.
(3) A majority of students believe that the examinations are being necessary.
{(4) No improvement.

Options :

92090624033. 1
92090624034. 2
92090624035. 3
92090624036. 4

Question Number : 9 Question Id : 9209066078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the option that inproves the given statement grammatically. A majority of students
believe that the examinations are unnacessary.

(1) A majority of students believe that the examinations are unnecessary.
{2) A majority of students believe that the examinations have been necessary.
(3) A majority of students helieve that the examinations are being necessary.
(4) No improvement.

Options :

92090624033. 1
92090624034. 2
92090624035. 3
92090624036. 4

Question Number : 10 Question Id : 9209066079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090624037. 1
92090624038. 2
92090624039. 3
92090624040. 4

Question Number : 10 Question Id : 9209066079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1) Wheel lock (2) Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090624037. 1
92090624038. 2
92090624039. 3



92090624040. 4

Question Number : 10 Question Id : 9209066079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A place with circular currents of water, which can pull objects down into it: -

(1 Wheel lock (2)  Wheelic
(3 Wheeler (4) Whirlpool
Options :

92090624037. 1
92090624038. 2
92090624039. 3
92090624040. 4

Question Number : 11 Question Id : 9209066080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

(1) Rs.22800
(2) Rs.23000
(3) Rs.24000
(4) Rs.24500
Options :
92090624041. 1
92090624042. 2
92090624043. 3
92090624044. 4

Question Number : 11 Question Id : 9209066080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10,350 as
intrest in 3 vears find the sum invested

(1) Rs.22800
(2) Rs.23000
(3 Rs.24000
(4) Rs.24500

o

Options :

92090624041. 1
92090624042. 2
92090624043. 3
92090624044. 4

Question Number : 11 Question Id : 9209066080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum of money invested on simple intrest at 15% per annual fetched Rs.10.350 as
intrest in 3 yvears find the sum invested

1) Rs.22800
2) Rs.23000
3 Rs.24000
1) Rs.24500

e

(
(
(
(

Options :

92090624041. 1
92090624042. 2
92090624043. 3
92090624044. 4

Question Number : 12 Question Id : 9209066081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

(1) 25cm
(2) 22.5em
(3) 22em

(

4) 21.8cm



Options :

92090624045. 1
92090624046. 2
92090624047. 3
92090624048. 4

Question Number : 12 Question Id : 9209066081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much ythe water level increases?

(1) 25em
(2) 22 Hem
i3 22em
(4) 21.Bem
Options :

92090624045. 1
92090624046. 2
92090624047. 3
92090624048. 4

Question Number : 12 Question Id : 9209066081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A solid metallic sphese of eadieus 30cm is dropped into a cylindrical vessel of diamenter
B0cm if the vessel is partly filled with water and the sphese dropped in it is completely
immersed than by how much vthe water level increases?

(1) 25cm
(2) 22 5em
(3) 22em
(4) 21.8cm
Options :

92090624045. 1
92090624046. 2
92090624047. 3
92090624048. 4



Question Number : 13 Question Id : 9209066082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs. 42000. After 2 month Reena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Rs.) is;

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090624049. 1
92090624050. 2
92090624051. 3
92090624052. 4

Question Number : 13 Question Id : 9209066082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Rs., 42000. After 2 month Heena joined her by
investing Rs. 35000. Profit at the end of 10 month was Rs.315% Reena's share in the profit
(in Bs.) is:

(1) 12,400 (2) 12,628

(3) 12,825 (4) 12,980

Options :

92090624049. 1
92090624050. 2
92090624051. 3
92090624052. 4

Question Number : 13 Question Id : 9209066082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shaloo started a business by investing Hs. 42000. After 2 month HReena joined her by
investing Ra. 35000, Profit at the end of 10 month was Hs.315% Reena's share in the profit
(in Hs.) is:

(1) 12,400 (2) 12,628

(3) 12 825 (4) 12,980



Options :

92090624049. 1
92090624050. 2
92090624051. 3
92090624052. 4

Question Number : 14 Question Id : 9209066083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1
Find the value of “x” is the following 10°4+74243° = 2245

(1) 21 (2)
(3) 23 (4)

]
b2

[ ]
o

Options :

92090624053. 1
92090624054. 2
92090624055. 3
92090624056. 4

Question Number : 14 Question Id : 9209066083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 108474243 ° = x245

]
b2

(1) 21 (2)
(3) 23 (4)

[ ]
o

Options :

92090624053. 1
92090624054. 2
92090624055. 3
92090624056. 4

Question Number : 14 Question Id : 9209066083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
Find the value of “x” is the following 1024724243 = x2+5

(1) 21 (2)
(3) 23 (4)

]
b2

[ ]
T



Options :

92090624053. 1
92090624054. 2
92090624055. 3
92090624056. 4

Question Number : 15 Question Id : 9209066084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

1
day and walk with speed 15 times of the previous speed then in how many days will he

cover 840km?

(1) 39 2y 33
(3) 356 (4) 37

Options :

92090624057.
92090624058.
92090624059.
92090624060.

B W N =

Question Number : 15 Question Id : 9209066084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

1
day and walk with speed 'IE times of the previous speed then in how many days will he

cover 840km?

(1) 389 2y 33
(3) 35 (4) 37

Options :

92090624057.
92090624058.
92090624059.
92090624060.

AW N

Question Number : 15 Question Id : 9209066084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A man covers a distance of 1200km in 70 days reasting 9 hours a day. If he rest 10 hours a

1
day and walk with speed 'IE times of the previous speed then in how many days will he
cover 840km?

(1) 39 (2) 3a
(3) 30 (4) 37

Options :

92090624057.
92090624058.
92090624059.
92090624060.

AW N —

Question Number : 16 Question Id : 9209066085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather
(2) Father

(3) Uncle

(

4) Brother- in- low

Options :

92090624061. 1
92090624062. 2
92090624063. 3
92090624064. 4

Question Number : 16 Question Id : 9209066085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather

(2) Father

(3) Uncle

(4) Brother- in- low
Options :

92090624061. 1
92090624062. 2

92090624063. 3
92090624064. 4

Question Number : 16 Question Id : 9209066085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pointing to gentleman, ravi said, “his only brother is the father of my daughter father how is
the gentleman related to Ravi?

(1) Grandfather

(2) Father

(3) Uncle

(4) Brother- in- low
Options :
92090624061. 1
92090624062. 2

92090624063. 3
92090624064. 4

Question Number : 17 Question Id : 9209066086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090624065. 1
92090624066. 2
92090624067. 3
92090624068. 4

Question Number : 17 Question Id : 9209066086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090624065. 1
92090624066. 2
92090624067. 3
92090624068. 4

Question Number : 17 Question Id : 9209066086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many dots lie opposite to the face having three dots, when the given figure is to form a
cube?

o O
Q Q
Q
O
a [+] L+]
@ Q
o =T I+ ] o
[+]
a
0 [+]
(1) 2
(Z) 4
(3) 5]
(4) 6
Options :

92090624065. 1
92090624066. 2
92090624067. 3
92090624068. 4

Question Number : 18 Question Id : 9209066087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(Z) 487
(3) 471
(4) 474
Options :

92090624069. 1



92090624070. 2
92090624071. 3
92090624072. 4

Question Number : 18 Question Id : 9209066087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 478?

(1) 470
(2) 487
(3) 471
(4) 474

Options :

92090624069.
92090624070.
92090624071.
92090624072.

AW N~

Question Number : 18 Question Id : 9209066087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option for the missing term 354: 349:: 4787

(1) 470
(2) 487
(3) 471
(4) 474
Options :

92090624069. 1
92090624070. 2
92090624071. 3
92090624072. 4

Question Number : 19 Question Id : 9209066088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption [ 1z implicit.
(2 Only assumption 1l is implicit.
(3) Either I or 11 is implicit.

(4) Neither | or Il is implicit.

Options :

92090624073. 1
92090624074. 2
92090624075. 3
92090624076. 4

Question Number : 19 Question Id : 9209066088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Answer the following question by studying the statement and assumptions.
Statemenent: - It is desirable to put the child in school at the age of 5 or 50.

Assumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six vears of age.

i1) Only assumption I iz implicit.
(2) Only assumption Il is implicit.
(3 Either I or II iz implicit.

EN] MNeither | or 11 is implicit.

Options :

92090624073. 1
92090624074. 2
92090624075. 3
92090624076. 4

Question Number : 19 Question Id : 9209066088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Answer the following question by studying the statement and assumptions.
Statemenent: - 1t is desirable to put the child in school at the age of 5 or 50.

Agsumptions: - 1. At that age the child reaches appropriate level of development and is
ready to learn.

[I. The schools do not admit children after six years of age.

(1) Only assumption [ 1z implicit.
(2 Only assumption 1l is implicit.
(3) Either I or 11 is implicit.

(4) Neither | or Il is implicit.

Options :

92090624073. 1
92090624074. 2
92090624075. 3
92090624076. 4

Question Number : 20 Question Id : 9209066089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
walks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2 6 km southwest

(3 5 km southwest

(4) 5 km northeast

Options :

92090624077. 1
92090624078. 2
92090624079. 3
92090624080. 4

Question Number : 20 Question Id : 9209066089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
wialks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) 6 km southwest

(3 5 km southwest

i(4) 5 km northeast

Options :

92090624077. 1
92090624078. 2
92090624079. 3
92090624080. 4

Question Number : 20 Question Id : 9209066089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Kavita walks 10 km towards north. From there, she walks 6 km towards south. Then, she
walks 3 km towards east. How far and in which direction is she with reference to her
starting point

(1) 10 km northwest

(2) G km southwest
i3 5 km southwest
(4) 5 km northeast

Options :

92090624077. 1
92090624078. 2
92090624079. 3
92090624080. 4

Question Number : 21 Question Id : 9209066090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(ID, (B)-(IV), (C)-(1), (D)-(I1T)
(2 (A4)-(IID), (B)-(IV), (C)-(D), (D)-(IL)
(3 (A)-(IV). (B)-(ID), (C)-(I), (D)-(I11)
(4) (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(I)

T

Options :

92090624081. 1
92090624082. 2
92090624083. 3
92090624084. 4

Question Number : 21 Question Id : 9209066090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
(C)  Olericulture (IIT) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

(1) (A)-(ID, (B)-(IV), (C)-(1), (D)-(I1T)
(2 (A4)-(IID), (B)-(IV), (C)-(D), (D)-(IL)
(3 (A)-(IV). (B)-(ID), (C)-(I), (D)-(I11)
(4) (A)-(ID), (B)-(IV), (C)-(I1I), (D)-(I)

T

Options :
92090624081. 1



92090624082. 2
92090624083. 3
92090624084. 4

Question Number : 21 Question Id : 9209066090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List I1 :

List I List II
Term Deal with
(A) Obstetrics (I) Vegetable growing
(B) Odonntogrophy (I) Branch of mediciane dealing
with preghang
() Olericulture (III) The storsy of bones
(D) Osteology (IV) ascience and story of teeth

Choose the correct answer from the options given below:

1) (A)-(II), (B)-(IV), (C)-(I), (D)-(I1)
2 (A)-(1ID), (B)-(IV), (C)-(I), (D)-(1I)
3 )-
]_

e

(
(
( (A)-(IV), (B)-(IT), (C)-(I), (D)-(I1I)
(4) (A)-(I), (B)-(IV), (C)-(I1T), (D)-(T)
Options :

92090624081. 1

92090624082. 2

92090624083. 3

92090624084. 4

Question Number : 22 Question Id : 9209066091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3 Propane and Benzane

(4) Propane and Ethane

Options :
92090624085. 1



92090624086. 2
92090624087. 3
92090624088. 4

Question Number : 22 Question Id : 9209066091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3 Propane and Benzane

(4) Propane and Ethane

Options :

92090624085. 1
92090624086. 2
92090624087. 3
92090624088. 4

Question Number : 22 Question Id : 9209066091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which hydrocarbons are the major constitvents of LPG?

(1) Methan only
(2) Methan and Ethans
(3 Propane and Benzane

(4) Propane and Ethane

Options :

92090624085. 1
92090624086. 2
92090624087. 3
92090624088. 4

Question Number : 23 Question Id : 9209066092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C)  The first Indian to go into space iz Rakesh Sharma.

(D)  The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3 (B) and (D) only

(4) (B) and (C) only

Options :

92090624089. 1
92090624090. 2
92090624091. 3
92090624092. 4

Question Number : 23 Question Id : 9209066092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

() The first Indian to go into space is Rakesh Sharma.

(D The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3) (B) and (D) only

(4) (B) and (C) only

Options :

92090624089. 1
92090624090. 2
92090624091. 3
92090624092. 4



Question Number : 23 Question Id : 9209066092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct statements are:
(A) The first person to enter space is Edward White.
(B) The first country to send man on the moon is USA.

(C) The first Indian to go into space is Rakesh Sharma.

(D The first country to send mars orbiter in first attempt is China.

Choose the correct answer from the options given below :

(1) (A) & (B) only

(2) (A). (B) and (C) only
(3) (B) and (D) only

(4) (B) and (C) only

Options :

92090624089. 1
92090624090. 2
92090624091. 3
92090624092. 4

Question Number : 24 Question Id : 9209066093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090624093. 1
92090624094. 2
92090624095. 3
92090624096. 4

Question Number : 24 Question Id : 9209066093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090624093. 1
92090624094. 2
92090624095. 3
92090624096. 4

Question Number : 24 Question Id : 9209066093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the Vedas mainly consists of a melodic format or verses set as lyrical composition?

(1) Yajur Veda

(2) Sam Veda

(3 Atharvea Veda
(4) Rig Veda

Options :

92090624093. 1
92090624094. 2
92090624095. 3
92090624096. 4

Question Number : 25 Question Id : 9209066094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 *  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is true but Statement I1 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090624097. 1
92090624098. 2
92090624099. 3
92090624100. 4

Question Number : 25 Question Id : 9209066094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : The idea of single citizenship in the constitution of India iz adapted
from British consititution

Statement 11 *  Funndamental dulies under article 51-A of Indian constitution is

adapted from French constitution

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is true but Statement I1 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090624097. 1
92090624098. 2
92090624099. 3
92090624100. 4

Question Number : 25 Question Id : 9209066094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement |

Statement 11

The idea of single citizenship in the constitution of India iz adapted

from British consititution

Funndamental dulies under article S1-A of Indian

adapted from French constitution

constitution is

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement [ is true but Statement I1 is incorrect
(4) Statement [ is false but Statement 11 is correct

Options :

92090624097. 1
92090624098. 2
92090624099. 3
92090624100. 4
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Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

920906122
2

Online
Mandatory
75

75

300

Yes

0

1
920906193
Yes

null



Question Number : 26 Question Id : 9209066095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#Y: HYAgY faed -

FUAE (1) :  WUHR: T (A WAt e oo oEd |
FoEn (1) : o vd foeafa - Serafaml g 99 Fgae |

I FEAGANIAE 3141 gy faeouy wEEy I e -
(1) =¥ (1) T 29 (1) 399 Feamfe|

(2) Y (1) UE YAy (11) 3999 S |

(3) = () g g e (1) sEemt)

(4)  FEY () FEEE e e (1) gl

Options :

92090624101. 1
92090624102. 2
92090624103. 3
92090624104. 4

Question Number : 26 Question Id : 9209066095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
#Y: FHYgY faed -
FEEE () : TR T UATg ST ST g 2 |
FU (1) : o vd foerafa - Sewafami q aq9a Foae |

I FHYAgANTAE 4l gy faseny |y I e -
(1) =9 (1) U6 599 (I1) 3979 Feamie |

(2) A (1) UE oA (11) 3999 SEeaie|

(3) = () g fg waad (1) sEemtE)

(4)  wEY () HEuE e w9E (1) g

Options :

92090624101. 1
92090624102. 2
92090624103. 3
92090624104. 4



Question Number : 26 Question Id : 9209066095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AY: HUgd fawd -

FEY (D) :  THR: TYE QA WA e gy g |
Fo (1) : wd vd foefa - senafam q =989 Fa |

THE FYAEENAE il Ty fawery s I A -
(1) A9 (D) U6 29 (1) 39 Fef|

(2)  FU () T HYH (1) I S |

(3)  FH () gt g FaE (10) seemt)

(4)  FEY (1) FEwE fFg F9E (1) gemfE)

Options :

92090624101. 1
92090624102. 2
92090624103. 3
92090624104. 4

Question Number : 27 Question Id : 9209066096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y HYAgd faed -
FYW () : FodeE Fias & A& |
FYAH (1) : HeafzFaiaa amEeEEg 7 |
TR FYTgENa Sl guy fawery s I aE -
(1) =g (1) wd w29 (1) 399 Feme|
(2)  wg (1) vE FEA (1) I99q 3anie |
(3)  FEHE () geAtE g g (1) SEemfl
(4)  FEH () ¥EEAET 6 ®eF (1) Femfel
Options :
92090624105. 1
92090624106. 2

92090624107. 3
92090624108. 4



Question Number : 27 Question Id : 9209066096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: Fogd foed -
Fg (1) : Fodee Fieash B 30ed |
Fe ([1) : WeAfEHiET amaeaEg i |

IHEE FYHgEa Sul gy fawedy w3 A -
(1)  %FH (1) T8 F4H (I1) 399 Feafa|
(2) U (1) T HGH (11) 399H HeeaaiE |
(3)  FHE () getea g w9 (1) SEaEmtel
(4)  FEH () WEEAE 6 ®e (1) Feamfedl
Options :
92090624105. 1
92090624106. 2

92090624107. 3
92090624108. 4

Question Number : 27 Question Id : 9209066096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A9: FYgd foad -
Fg (1) : FoagH Fiash B e |
FU (1) : MeAfgEiET amdeaEg 76 |

ITF FegaETae 41 gy fawery Wy I e -
(1) %% (1) T8 F4H (I1) 399 Femfa|
(2)  w (1) vd Ho (1) 3999 S|
(3)  FEHE () geAtE g g (1) SEemfl
(4)  FEH () ¥EEAET 6 ®eF (1) Femfel
Options :
92090624105. 1
92090624106. 2

92090624107. 3
92090624108. 4

Question Number : 28 Question Id : 9209066097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

HY: FYAgE o -
HEAN () - FATemrE FhT== TEW 9a |
FeAn (1) Afewmm Safers maw samfq )

I HAAgEHaE 41 gay faswery Wy I faaa -
(1) =% (1) '8 F49 (11) 379 T |

(2) =G (1) TS HE (11) 3979, SrEeamie |

(3)  FE () aEtE g w9 (1) S|

(4) =Y (1) FEEEE e wYE (1) gemiE)

Options :

92090624109. 1
92090624110. 2
92090624111. 3
92090624112. 4

Question Number : 28 Question Id : 9209066097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
#9: FHuAgd foed -
FO () : FATewrH FIEREE TE0 wa |
FE (1) : SfEHem F9Tivwe TEw &l |

IR FYAgANIA 341 goy fasedy w39 faaa -
(1) oY () vd Ho9 (I1) 399 Heamfe |

(2) U (1) U6 HU (11) 399 SEanie |

(3) = (1) 9w g F99 (1) FE=atE)

(4)  FEH (1) FEEEE g weF (1) FemtE)

Options :

92090624109. 1
92090624110. 2
92090624111. 3
92090624112. 4



Question Number : 28 Question Id : 9209066097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FYAgE o -

FUA ()« FFATCHIH ATT=ERE T Hah |

FE (1) : afgwmm Infra gae wafq |

T FeAgANIAE 4l gy ooy a3 e -
(1)  =Y=H (1) w8 &9 (11) 399 FemiE|

(2)  =wYEH (1) w8 FY9 (11) 3999 st |
(3)  FE () aEtE g w9 (1) S|

(4) =Y (1) FEEEE e wYE (1) gemiE)

Options :

92090624109. 1
92090624110. 2
92090624111. 3
92090624112. 4

Question Number : 29 Question Id : 9209066098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AT siiery TReToE=i-

(A) e

(B) H@EH

(C) w9y

(D) |=mE:

(E) it=m

A1 oy fasmeay w3 o -

(1)  =Eed (B), (D), (E) (2) %EwH (C), (D), (E)
(3)  HEe (A), (B), (D) (4) =HF= (A), (B), (C)

Options :



92090624113. 1
92090624114. 2
92090624115. 3
92090624116. 4

Question Number : 29 Question Id : 9209066098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ElrAlREnRE R R e o

(A)  wfEmn

(B) ®dW

(C) gy

(D) |=me:

(E) =ir=m

A1 oy faseay w3 o -

(1)  aem (B), (D). (E) (2) =W (C), (D), (E)

(3)  HEeH (A), (B), (D) (4) =EH (A), (B). (C)
Options :

92090624113. 1
92090624114. 2
92090624115. 3
92090624116. 4

Question Number : 29 Question Id : 9209066098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



argIaEAg ey 9= -

(&) FfEE

(B) ®H

(C)  swaaq

(D)  HAmM:

(B) sim

(1)  %=%M (B), (D). (E) (2) ==ed (C), (D), (E)
(3) %= (A), (B), (D) (4) == (A), (B). (C)

Options :

92090624113. 1
92090624114. 2
92090624115. 3
92090624116. 4

Question Number : 30 Question Id : 9209066099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTgHHY JETE -

(A) #FHIq

(B) e

(C) =FY

(D)  TFOIfY:

(E) wam

w41 gy fawouy |y 3 faqa -

(1)  ==ed (B), (D), (E) (2) waem (A), (B), (D)
(3)  #aem (B), (C), (E) (4) wae (C), (D), (E)

Options :



92090624117. 1
92090624118. 2
92090624119. 3
92090624120. 4

Question Number : 30 Question Id : 9209066099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

stgeiy gioma-

(A) I

(B)  fiem

() @Ay

(D)  TwfE:

(E)

(1) %= (B), (D), (E) (2) =T (A), (B), (D)
(3)  #FFeH (B), (C). (E) (4) FEEH (C), (D), (E)
Options :

92090624117. 1
92090624118. 2
92090624119. 3
92090624120. 4

Question Number : 30 Question Id : 9209066099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gy qiETwE=-

e

(A) 3T

(B)  sfiem

(Cy =AY

(D)  =wfY:

(E) wm

1 7y fampey Wi I foge -

(1) == (B), (D), (E) (2) = (A), (B), (D)

(3)  =aE=H (B), (C). (E) (4) =Fed (C), (D), (E)
Options :

92090624117. 1
92090624118. 2
92090624119. 3
92090624120. 4

Question Number : 31 Question Id : 9209066100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fa i -

(A) HHE4:

By HUEM:

() =

(D) =

(Ey faum:

S gy ferspety Fufi=ig 3w fogd -

(1)  ==aq (A), (B), (C) (2) =Ha=H (A), (C), (D)
(3) W (B), (D), (E) (4) m (C), (I, (E})

Options :



92090624121. 1
92090624122. 2
92090624123. 3
92090624124. 4

Question Number : 31 Question Id : 9209066100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT g -

(A) HIHH:

By HAHE -

() =

D g1

(E) faum:

41 gy Fedy FdEEY I -

(1)  %Fem (A), (B). (C) (2) FHFF (A), (C), (D)

(3) e (B), (D). (E) (4) aEd (C), (D), (E)
Options :

92090624121. 1
92090624122. 2
92090624123. 3
92090624124. 4

Question Number : 31 Question Id : 9209066100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fa i -

(A) HHE4:

By HHEE:

() =

(D) =

(Ey faum:

w1 Zoy ety wfieay I faga -

(1)  ==aq (A), (B), (C) (2) =Ha=H (A), (C), (D)

(3) @M (B), (D), (E) (4) =Ha@H (C), (D), (E)
Options :

92090624121. 1
92090624122. 2
92090624123. 3
92090624124. 4

Question Number : 32 Question Id : 9209066101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIHey TR -

(A) IEEIEIETSE

(B) TrawesE:

() PEEIETSE

D) HIATATRA:

(E) Hehed:

Fe1 gy fawpery a3 faga -

(1)  =Eaw (C), (D), (E) (2) aw (B), (C)., (E)
(3) == (A), (C), (B) (4) =HF=9 (A), (C), (D)

Options :



92090624125. 1
92090624126. 2
92090624127. 3
92090624128. 4

Question Number : 32 Question Id : 9209066101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ig ﬁ-\ ﬂaﬂ EI 1]' E3 3- i

(A) fama:

(B) FrEuma:

(C) Uoa=a:

(D AR

(E) Hepel:

A4 gy faereuy w3 fagq -

(1)  =F&aem (C), (D), (E) (2) Haem (B), (C), (E)

(3)  FEeH (A), (O), (E) (4) FEEd (A), (C). (D)
Options :

92090624125. 1
92090624126. 2
92090624127. 3
92090624128. 4

Question Number : 32 Question Id : 9209066101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iy e -

(A)  Tasme:
(B) Fruma:

(C) o

() AT

(E)  Ohe:

el ony fosphedy ol 3w fage -

(1) =M (C). (D), (E) (2) = (B), (C). (B)

(3) == (A). (C). (B) (4) e (A), (C). (D)
Options :

92090624125. 1
92090624126. 2
92090624127. 3
92090624128. 4

Question Number : 33 Question Id : 9209066102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

STHATTHY, TR0 -

(A) RIEREIHLF

(B)  Frpmm:

() EI?I?—HTITI-.

D) Fﬂﬁﬂﬂ:

(E)  Fr=mm:

F gy faspedy w3 faga -

(1)  =Eaw (A), (C). (D) (2) aw (B), (C). (E)
(3)  ==em (B), (C), (D) (4) =E=H (C), (D), (E)

Options :



92090624129. 1
92090624130. 2
92090624131. 3
92090624132. 4

Question Number : 33 Question Id : 9209066102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
s 13?! ]!-\qa I .]]rllzrqi-L o

(A) HI=TTETTH:

(B) T

(C) FHIITH:

(D) AR

(E)y  frmm:

41 zoy faseuy wii=y I faqq -

(1)  F=Eem (A), (O), (D) (2) a@d (B), (C). (E)

(3) AW (B, (0). (D) (4) FEed (C), (D), (E)
Options :

92090624129. 1
92090624130. 2
92090624131. 3
92090624132. 4

Question Number : 33 Question Id : 9209066102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTERIRHY, FRoToa= -

(A)  TIZATETTH:

(B)  farqom:

() =remm:

(D)  Tpen:

(E) Frm:

el gy feshey Wi 3t foage -

(1) == (A), (C), (D) (2) e (B). (O). (B)

(3) %= (B). (C), (D) (1) w=e (C), (D). (E)
Options :

92090624129. 1
92090624130. 2
92090624131. 3
92090624132. 4

Question Number : 34 Question Id : 9209066103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG TfeTE -

(A) hH:

(B) <&

(C) &

(D) T

(E) @m:

w41 gy femmeay wfEg o faaa -

() F&w (C). (D). (B) (2) &= (B). (C). (E)
(3)  FAEH (A), (C), (D) (4) == (A), (C), (E)

Options :



92090624133. 1
92090624134. 2
92090624135. 3
92090624136. 4

Question Number : 34 Question Id : 9209066103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFZHY, TFT0T -

(A) hH:

(B) LG

(C) @

(D) Heqwdl

(E)y &m:

(1) === (C). (D). (E) (2) = (B), (C). (E)

(3)  FEH (A), (). (D) (4) Fa (A). (©), (E)
Options :

92090624133. 1
92090624134. 2
92090624135. 3
92090624136. 4

Question Number : 34 Question Id : 9209066103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AHEHY, TT0E -

(A) M-

(B) @@

(C) &

(D) SFawd

(E) &

31 7Y feety A 3o fagd -

(1) %= (C), (D), (E) (2) e (B), (C). (E)

(3) #aed_(A), (C), (D) (4) HEe (A), (C), (E)
Options :

92090624133. 1
92090624134. 2
92090624135. 3
92090624136. 4

Question Number : 35 Question Id : 9209066104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR AT -

(A) TH:

(B) 39fa:

() g

D) =g

(B =

el gy faseuy |fEiEg 9 fa -

(1)  =aeW (B), (D). (E) (2) haed (A), (C), (D)
(3) I (A), (B), (D) (4) HFE (C). (D). (E)

Options :



92090624137. 1
92090624138. 2
92090624139. 3
92090624140. 4

Question Number : 35 Question Id : 9209066104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y -

(A)

(B) 3ofa:

() gf

D) #=Z

(E) =

(1)  ==ed (B), (D). (E) (2) Ee (A), (C). (D)

(3)  F=EM (A), (B), (D) (4) HEEm (C), (D), (E)
Options :

92090624137. 1
92090624138. 2
92090624139. 3
92090624140. 4

Question Number : 35 Question Id : 9209066104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR A1 -

(A) ™
(B)  Fwfa:
©  wfa:
D) =@
(E) wfa:
el 7oy fespety di=f 3o fag -
(1) %= (B), (D). (E)
(3) e (A), (B), (D)
Options :

92090624137. 1
92090624138. 2
92090624139. 3
92090624140. 4

(2) Eed (A), (C), (D)
(4) HaEH (C). (D). (E)

Question Number : 36 Question Id : 9209066105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE FEEIAE TER He H -

(A)
(B)
(C)
(D}

ECip

3 f& ¥ w59 wfafie e

Jad T8 79 Fo1 WIS TeEg 3 |
w1 T2 43 gdd s gae 9|
HE FEH UWEl A T wEed |

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(II), (C)-(). (D)-(I1I)
(A)-(I1I), (B)-(I), (C)-(IV), (D)-(IT)
(A)-(IID), (B)-(IV), (C)-(11), (D)-(I)
(A)-(IT), (B)~(T), (C)-(III), (D)-(IV)

T
() =IWISEME:
1N fEdmsamE:

(III) =gaisena:
(IV) SEIS=IE:



Options :

92090624141. 1
92090624142. 2
92090624143. 3
92090624144. 4

Question Number : 36 Question Id : 9209066105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I OIS WER U $E -

gl T 11
(A) 7 f& 797 991 qfeafiE fama () eIHISEE:
(B) =aa Tz w: T wify =eag geq | (I fedfaisam:
(C) = f2 g 9oy 9= ga= 4 | (IIT) =geisem:
(D) % T 9vEl 79: ¥4 ugaqd | (IV) SBISEm:
w7y Frey il 3 g -

(1) (A)-(IV), (B)-(II), (C)-(T), (D)-(LLI)
(2) (A)-(I11), (B)~(I), (C)-(IV), (D)-(1I)
(3) (A)-(I1T), (B)-(IV), (C)-(ID), (D)-(T)
(4) (A)-(IT), (B)~(T), (C)-(III), (D)-(IV)

Options :

92090624141. 1
92090624142.2
92090624143. 3
92090624144. 4

Question Number : 36 Question Id : 9209066105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! FEEIAE TER W H6 -

e 1 11
(&) A f& 777 wgE s fomm M  ewHisEm:
(B) =« T2 w4 T ywify =eag geq | (a1 fedrisam:
(C) = e g9 gegde S0 goe | | (II1) =geisem:
(D) #% 9549 994l 0: 94 gadd | (IV) SEIs=mME:

(1) (A)-(IV), (B)-(II), (C)-(D), (D)-(I1I)
(2) (A)-(I11), (B)-(I), (C)-(IV), (D)-(1I)
(3) (A)-(IID), (B)-(IV), (C)~(II), (D)-(T)
(4) (A)-(ID), (B)~(T), (C)-(I11), (D)-(TV)

Options :

92090624141. 1
92090624142. 2
92090624143. 3
92090624144. 4

Question Number : 37 Question Id : 9209066106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FAEIEE TER HeH F5 —

= 1 = 11
(A) wEER () Fanfas:
(B) wdTcaaqeqoams: (I dtg:
(C) HchmEdeE: (II) 34:
(D) FAFHEETE: (IV) BT
41 gey Ty w3 =0 -

(1) (A, (B)-(AD), (C)-(IV), (D)-(T)
(2) (A, B)-AV). (O)-(D). (M-1D)
(3 (A)-ID, (B)-(I1I), (C)-(T), (D)-(IV)
(4)  (A)-IV), (B)-(II), (C)-(D, (D)-(III)

Options :



92090624145. 1
92090624146. 2
92090624147. 3
92090624148. 4

Question Number : 37 Question Id : 9209066106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FAAIAE TER W F5 —

= 1 = 11
(A) ¥HTEER (I) F=fae:
(B) wHTca@qIEmg: (In) =fz:
(C) HrepEEmE: (I ==:
(D) HEHEEE: (IV) HTEA:
A1 Ty foeeTy A I A -

(1) (A)-(III), (B)-{I1), (C)-(IV), (D)-(T)
(2) (A)-(IIT), (B)-(IV), (C)-(I), (I-(1I)
(3) (A)-(IT), (B)-(I1T), (C)-(T), (D)-(IV)
(4) (A)-(IV), (B)-(II). (C)-(T). (D)-(I1I)

Options :

92090624145. 1
92090624146. 2
92090624147. 3
92090624148. 4

Question Number : 37 Question Id : 9209066106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T FAEIEE TER HeH H5 —

T 1 T 11
(A) wTEEmR I anas:
(B) wHTca@qrIioare: (1 ste:
(C) wehraTE: (I1T) =
(D) FAHHEETE: (IV) =i
7ot 2y Foaet sl 3w Fo -

(1) (A1), (B)-(II), (C)-(IV), (D)-(T)
(2) (A, (B)-AV), (C)-(D), (M-I
(3)  (A)RID, (B)-(I1I), (C)-(T), (D)-(IV)
(4)  (A)-IV), (B)-(ID), (C)-(D, (D)-(I1I)

Options :

92090624145. 1
92090624146. 2
92090624147. 3
92090624148. 4

Question Number : 38 Question Id : 9209066107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FAEIAE TER W F6 —

= = 11
(A) HETaEFE=H] I ™+
(B) HEHR=HY (I =
(C) wioTgT=sry, IV RGE
(D) FATET=HY (IV) =ed
A1 oy ey w3 fom -

(1) (A)-AV), (B)-(ID), (C)-(D, (D)-(III)
(2)  (A)»D, (B)-(IV), (C)-(I1I), (D)-(T)
(3)  (A)-II), (B)-(IV), (C)-(1D), (D)-(I)
(4) (A1, (B)-(D), (C)-(D), (D)-(IV)



Options :

92090624149. 1
92090624150. 2
92090624151. 3
92090624152. 4

Question Number : 38 Question Id : 9209066107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ZAEIE TER UeH 5 —

= 1 = 11
(A) wETaEEEH] () W=+
(B) HEHTEH (ITy A4t
(C) wfoTg=sRy, (III) o=
(D) FTETEE (Iv) =3
A1 oy faseuy A I oA -

(1) (A)-(IV), (B)-(1I), (C)-(1), (D)-(11I)
(2) (A)-(II), (B)-(IV), (C)-(IIT), (D)-(T)
(:3) (A)-(II1), (B)-(AV), (C)-(11), (D)-(I)
(4) (A)-(II0), (B)-(I), (C)-(II), (D)-(IV)

Options :

92090624149. 1
92090624150. 2
92090624151. 3
92090624152. 4

Question Number : 38 Question Id : 9209066107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T FAEIAE TER U H6 —

T 1 =111
(A)  wTEEEEy (I) &S
(B) WEAR=HY (I1) =t
(C) wifoTg=sRy, (11D faga
(D)  FTET=ERY, (IV) ®ed
41 gy fameuy By 3w o -

(1) (A)»IV), (B)-(II), (C)-(D), (D)-(11I)
(2)  (A)»D, (B)-(IV), (C)-(I1I), (D)-(T)
(3)  (A)-II), (B)-(IV), (C)-(1D), (D)-(T)
(4) (A)-(1IL), (B)~(T), (C)-(11), (D)-(IV)

Options :

92090624149. 1
92090624150. 2
92090624151. 3
92090624152. 4

Question Number : 39 Question Id : 9209066108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FAHTAE TR HeH H6 -

= 1 =10
(A) ode: I HgEEE:
(B) TET: (II) \WEE:
(C) TrgEdeE: (IIT) ==
(D) s Iv) Te:
g1 gy fasedy |\ W =9 -

(1) (A1), (B)-AV), (C)-(D), (D)-(11)
(2)  (A)-IV), (B)-(D), (O)-(11), (D)-(I11)
(3) (A)-(IV), (B)-(I1I), (C)-(T), (D)-(11)
(4)  (A)-(ID), (B)-(I), (C)-(IIT), (D)-(IV)



Options :

92090624153. 1
92090624154. 2
92090624155. 3
92090624156. 4

Question Number : 39 Question Id : 9209066108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= gAY TR Hed 4 -

= 1 T 11
(A) g 1) FuEes:
(B) TUEEE: II) |WEE:
(C) TrgEde: (III) Foee:
(D) FAE: IV) aF9e:
w1 gy faseuy adiEiag I faqa -

(1) (A)-(110), (B)-(IV), (C)-(L), (D)-(1T)
(2)  (A)-(IV), (B)-(T), (C)-(IT), (D)-(I1T)
(3) (A)-(IV), (B)-(I1D), (C)-(I), (D)-(II)
(4) (A)-(I1), (B)-(I), (C)-(IIT), (D)-(IV)

Options :

92090624153. 1
92090624154. 2
92090624155. 3
92090624156. 4

Question Number : 39 Question Id : 9209066108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= FAEAE TR T H6 -

7= 1 T 11
@) T @ I
(B) ¥EEE: (II) \WaE:
(C) TTFaEEE: (III) FEe:
(D) e (V) Fgae;
w41 zy ey e 3 e -

(1) (AL, (B)-AV), (C)-(D), (D)-(ID)
(2)  (AIV), (B)-(D), (C)-(ID), (D)-(IIT)
(3)  (A)-(IV), (B)-(ITI), (C)-(T), (D)-(IT)
(4)  (A)ID), (B)-(D. (C)-(111), (D)-(IV)

Options :

92090624153. 1
92090624154. 2
92090624155. 3
92090624156. 4

Question Number : 40 Question Id : 9209066109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T FEEIAE TER W H5 -

= 1 T 11
(A) g (1) TAOIETEERT:
(B) Teremom: (II) WPIFEERN:
(C) FHAIEEY (111 Sferrasnn:
(D) e (IV) SreEgesn:
el 7oy Taery wdig o o -

(1) (A)-IV), (B)-(I), (C)-(D. (D)-(III)
(2) (AL, (B)-(IV), (C)-(1D), (D)-(T)
(3)  (A)-aD, (B)-(D), (C)-(IV), (D)-(I1I)
(4)  (A)ID. (B)-(I1I), (C)-(IV), (D)-(I)



Options :

92090624157. 1
92090624158. 2
92090624159. 3
92090624160. 4

Question Number : 40 Question Id : 9209066109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=T ZAETHE W UeH e -

= 1 = 11
(A)  TaTIEY (1) TR
(B) fammm: (I1) T=SEER:
(C)  FAIEEY (I11) SferEe=nn:
(D) F=oE: (IV) HoEEe=Fn:

(1) (A)-(IV), (B)-(II), (C)-(T), (D)-(11I)
(2)  (A)-AID, (B)-OV), (C)-(aD), D)-()
(3)  (A)ID. (B)-(D), (C)-(IV), (D)-(11I)
(4) (A)-(II), (B)-(111), (C)-(IV), (D)-(I)

Options :

92090624157. 1
92090624158. 2
92090624159. 3
92090624160. 4

Question Number : 40 Question Id : 9209066109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T ZEEIHE TP He H5 -

= 1 =
(A) TaTaEH (1)  FOOEERR:
(B) fermm: (I} WFEHEER:
(C) FF=umeg (III) Sferaenn:
(D) F=afE: (IV) STEEEHR:
et Ty ferepety wfie I o -

(1) (A)-IV), (B)-(ID). (C)-(D, (D)-(I1I)
(2) (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(3)  (A)-aD), (B)-(D), (C)-(IV), (D)-(I1T)
(4)  (A)-ID. (B)-(IID), (C)-(IV), (D)-(T)

Options :

92090624157. 1
92090624158. 2
92090624159. 3
92090624160. 4

Question Number : 41 Question Id : 9209066110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gamfas weR TeH Fed -

T 1 11
(A) IWTERM: @)  ST=TET:
(B) r&mm: (IT) I2AEFH:
(C) maTTH: (IIT) HMHFM:
(D) SHMETH: (IV) HTEnm:

49 feu mu feeregt 9 9 w6 I w1 999 il

(1) (A)-(IL), (B)-(IV). (C)-(T), (D)-(11T)
(2) (A)-(IT), (B)-(11D), (C)-(I), (D)-(IV)
(3 (A)-(IV), (B)-(ID), (C)-(1II), (D)-(I)
(4) (A)-(I11), (B)~(I), (C)-(11), (D)-(IV)



Options :

92090624161. 1
92090624162. 2
92090624163. 3
92090624164. 4

Question Number : 41 Question Id : 9209066110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gAY PR HoH $9d -

= 1 Tt 11
(A) FwTETIm: (I) =
(B) dEmm: (IT) J=A=ETTH:
(C) SmeRTH: (IT) HEET:
(D) HATATTH: (IV) HErm:

4 fou o faedi 4 | A8 I w1 999 S

(1) (A)-(IL), (B)-(IV), (C)-(I), (D)-(I1T)
(2) (A)-(II), (B)-(I11), (C)-(I), (D}-(IV)
(3)  (A)-(IV), (B)-(IL). (C)-(I1I), (D)-(T)
(4) (A, (B)-(I), (C)-(I11), (D)-(IV)

Options :

92090624161. 1
92090624162. 2
92090624163. 3
92090624164. 4

Question Number : 41 Question Id : 9209066110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T FAANHE TER HeH H5 —

= 1 H41 11
(A) HOERE: ) STETET:
(B) ramm: (IT) TSATER:
(C) =meTH: (IT) HHEET:
(D) FTIIIH: (IV) dErm:

4= feu mu faedi O 9 9 I #1991 Fifau

(1) (A)-(IL), (B)-(IV), (C)-(T), (D)-(11T)
(2) (A)-(ID), (B)-(1ID), (C)-(D), (D)-{IV)
(3) (A)-(IV), (B)-(II), (C)-(11I), (D)-(I)
(4) (A)-(I11), (B)-(I), (C)-(11), (D)-(IV)

Options :

92090624161. 1

92090624162. 2

92090624163. 3
92090624164. 4

Question Number : 42 Question Id : 9209066111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt FEmiHe WeR T FE -

T 1 11
(A)  SAferfrEamE n FEE:
(B) vEcEATTE (1) FadE:
(C)  Tooyemesman (1) =g
(D) wreEfETETE (IV) Tge;

= feu mu fa=eTi O © 9 I w1 959 Hifau:

(1) (A)(IID), (B)-(I), (C)-(1T), (D)-(IV)
(2)  (A)(ID, (B)-(II), (C)-AV), (D-(D)
(3)  (A)-D), (B)-(IV), (C)-(I), (D)-(11I)
() (A)-(IV), (B)-(D), (C)-(11L), (D)-(IT)



Options :

92090624165. 1
92090624166. 2
92090624167. 3
92090624168. 4

Question Number : 42 Question Id : 9209066111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gaAITye T deH Fed -

T 1 H 11
(A)  SAfrfETE () e
(B) HAvEATEAIE (1) =ruEaEe:
(C) TaoysTesma (IIT) =TaE:
(D) weafTaTE (IV) Tgee:

i Tew o fasredi O | 9 I w1 999 it

(1) (A)-(110), (B)-(I). (C)~(11), (D)-(IV)
(2) (A1), (B)-(II), (C)-(IV), (D)-(T)
(3 (A, (B)-(IV), (C)-(I), (D)-(I1T)
() (A)-(IV), (B)-(D), (C)-(11L), (D)-{IT)

Options :

92090624165. 1
92090624166. 2
92090624167. 3
92090624168. 4

Question Number : 42 Question Id : 9209066111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T gENIAE WER HoH $5 -

4 1 H4T 11
(A)  JferEmE (VI 2t
(B) FTEEAIRE (1) e
(C) faoyeTgeman (ITT) \HEE:
(D) et (IV) Fgde:

= Tew o feerei § | o I W =99 it

(1) (A)-(I1T), (B)-(T). (C)-1), (D)-(IV)
(2) (A)-(I1D), (B)-(II), (C)-(IV), (D)-(I)
(3) (A)-(IT), (B)-(IV), (C)-(I), (D)-(11I)
(4 (A)-(IV), (B)-(D), (C)-(I1I), (D)-(IT)

Options :

92090624165. 1
92090624166. 2
92090624167. 3
92090624168. 4

Question Number : 43 Question Id : 9209066112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT THEE F41 ] JEgH ¢

(1)  Sr=E-EremEE (2) Ao
(3)  rgHEEREE (4)  TOMEHEETEE
Options :

92090624169. 1
92090624170. 2
92090624171. 3
92090624172. 4

Question Number : 43 Question Id : 9209066112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A GHEE FA1 S TG 7

(1)  S=agSEEmE (2) AEETE
(3) F IR (4) TOTEAEETEEE
Options :

92090624169. 1
92090624170. 2
92090624171. 3
92090624172. 4

Question Number : 43 Question Id : 9209066112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIAE U A1 TS TG ¢

(1)  ==E-EEE (2) ST
(3) IR (4) ToTEHEEEE
Options :

92090624169. 1
92090624170. 2
92090624171. 3
92090624172. 4

Question Number : 44 Question Id : 9209066113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Ea - AEEtatg: | 96 30 & w7

(1)  TiEgE (2) U=
(3) T (4) 3
Options :

92090624173. 1
92090624174. 2
92090624175. 3
92090624176. 4

Question Number : 44 Question Id : 9209066113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TS Ea - AEEtatg: | 96 3fq &5 w7

(1) T (2) =M
(3) =g (4) 3
Options :

92090624173. 1
92090624174. 2
92090624175. 3
92090624176. 4

Question Number : 44 Question Id : 9209066113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Ea - AEEtatg: | 96 30 & w7

(1)  TiEgE (2) U=
(3) T (4) 3
Options :

92090624173. 1
92090624174. 2
92090624175. 3
92090624176. 4

Question Number : 45 Question Id : 9209066114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afeemmmy gfemEd-

(n =g (2) AmieHEm:
(3) TR (4) HEATTH:
Options :

92090624177. 1
92090624178. 2
92090624179. 3
92090624180. 4



Question Number : 45 Question Id : 9209066114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ey gieTed -

()  =grm: (2) AwWTHHT:
(3) T (4) FEaTE:
Options :

92090624177. 1
92090624178. 2
92090624179. 3
92090624180. 4

Question Number : 45 Question Id : 9209066114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afeemmmy gfemEd-

(1) =g (2) dwrfeErT:
(3) TR (4) HEATTH:
Options :

92090624177. 1
92090624178. 2
92090624179. 3
92090624180. 4

Question Number : 46 Question Id : 9209066115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FERETH WE: At e Hiafay et ?

(1) Ffem (2) =l
(3  Tafram (4) wafaag
Options :

92090624181. 1
92090624182. 2
92090624183. 3



92090624184. 4

Question Number : 46 Question Id : 9209066115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEEEry wEa: difaen: =y sty yafa e

(1) ffeuy (2) =diauy
(3  Tafram (4) wafaug
Options :

92090624181. 1
92090624182. 2
92090624183. 3
92090624184. 4

Question Number : 46 Question Id : 9209066115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEAETTE wEd: Sifaen. wey sl vafa?

(1 fafaum (2) =dfduy
(3  Tafram (4) wafaug
Options :

92090624181. 1
92090624182. 2
92090624183. 3
92090624184. 4

Question Number : 47 Question Id : 9209066116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“fareul. AT Tt Wik s T 53 faea e
(1)  wiegeaEizaEy (2) Hi-wZEETEm
(3) SvEREiEIEN (4) IFTEEEEAET

Options :



92090624185. 1
92090624186. 2
92090624187. 3
92090624188. 4

Question Number : 47 Question Id : 9209066116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Tt AEETeET fawmmfE: wias” st e 5= e

(1)  wfEds=mEiEamEm (2) wiEgEiEaEm
(3)  sEEEEaEN (4) FTTEEETEAET
Options :

92090624185. 1
92090624186. 2
92090624187. 3
92090624188. 4

Question Number : 47 Question Id : 9209066116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“feoiy: ATedETET fawmfE: wiaa' sfa o= #3 faaa e

(1) HAiegegHizaEm (2) HAiwgEiEaEm
(3)  SeavEiEaEm (4) FTEEEEAEN
Options :

92090624185. 1
92090624186. 2
92090624187. 3
92090624188. 4

Question Number : 48 Question Id : 9209066117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EnIfatEea: &: 7

(1)  ==| (2) oo
(3 fm 1) =
Options :

92090624189. 1
92090624190. 2
92090624191. 3
92090624192. 4

Question Number : 48 Question Id : 9209066117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TARUIETIEea: &: ¢

(1) =& (2) o
(3 ) T
Options :

92090624189. 1
92090624190. 2
92090624191. 3
92090624192. 4

Question Number : 48 Question Id : 9209066117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@m: eh: 7

(1)  &&H (2) o
(3 4 7=
Options :

92090624189. 1
92090624190. 2
92090624191. 3
92090624192. 4



Question Number : 49 Question Id : 9209066118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST gideredd 9 =9 7

(1)  fEom: (2) wEM:
(3 = (4) FarA
Options :

92090624193. 1
92090624194. 2
92090624195. 3
92090624196. 4

Question Number : 49 Question Id : 9209066118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
tarm afteregT #2907

(1)  faom: (2) &
(3) TmE= (4) FaA
Options :

92090624193. 1
92090624194. 2
92090624195. 3
92090624196. 4

Question Number : 49 Question Id : 9209066118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST gideredd 9 =9 7

(1)  fEem. (2) w&Em:
(3) T (4) FarA
Options :

92090624193. 1
92090624194. 2
92090624195. 3
92090624196. 4



Question Number : 50 Question Id : 9209066119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stammd w9): Sfafag: 7

(1) fgfEs: (2) fafgu:
(3)  =dqfEu: (4) wafay:
Options :

92090624197. 1
92090624198. 2
92090624199. 3
92090624200. 4

Question Number : 50 Question Id : 9209066119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SrEmTH T9): FHiatag: 7

(1 fafe: (2) fafga:
(3) =i (4) wafa:
Options :

92090624197. 1
92090624198. 2
92090624199. 3
92090624200. 4

Question Number : 50 Question Id : 9209066119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Stammd w9): Sfafag: 7

(1) fgfEs: (2) fafgu:
(3)  =dqfEu: (4) wafay:
Options :

92090624197. 1
92090624198. 2
92090624199. 3
92090624200. 4



Question Number : 51 Question Id : 9209066120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o faufaasme waH wata-

(1)  fiE: (2) ®ES:

(3) WL (1) FBET:
Options :

92090624201. 1
92090624202. 2
92090624203. 3
92090624204. 4

Question Number : 51 Question Id : 9209066120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o faefaaswe v wata-

(1) e (2) FEge:
(3)  AEHeE: (1) FUBET:
Options :

92090624201. 1
92090624202. 2
92090624203. 3
92090624204. 4

Question Number : 51 Question Id : 9209066120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o e waH wata-

(1) =i (2) weFe:
(3)  wEHeE: (1) FuBEE:
Options :

92090624201. 1
92090624202. 2
92090624203. 3
92090624204. 4



Question Number : 52 Question Id : 9209066121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  Iowed (2) FAfemmwe
(3) W (4) wEvEYeY
Options :

92090624205. 1
92090624206. 2
92090624207. 3
92090624208. 4

Question Number : 52 Question Id : 9209066121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  IueH (2) HAfzImwes
(3) W (4) wFETEYEH
Options :

92090624205. 1
92090624206. 2
92090624207. 3
92090624208. 4

Question Number : 52 Question Id : 9209066121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  IueH (2) HAfzImwes
(3) W (4) wFETEYEH
Options :

92090624205. 1
92090624206. 2
92090624207. 3
92090624208. 4



Question Number : 53 Question Id : 9209066122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WY HYgE e, TR Siaee (A) S5, AR 7= w0 (R) #E)

RYFYAY (A) :  FodeH GEATEE: TEAE |
wool (R : T fEea AT Hafd I |

T e eh <y Feey wf T R -

(1) (A W@ (R) I GufEd, 19 (R), (A) TR T =311 Hi|
(2) (A) Taq (R) 299 Hegmfed, T (R), (A) 30570 59 =0T A F=00|
(3) (A) BemfE fee (R) 5 AifE)
(4) (A HdE A1 R (R) Seamfe)
Options :
92090624209. 1
92090624210. 2

92090624211. 3
92090624212. 4

Question Number : 53 Question Id : 9209066122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
w9 FYAEE faed, e sifimym (A) sfE@, 90 7= Fom (R) #E)

AR (A):  FoaeE gEAfEwd: wemiE |
wmom (R): T fEea A EH=A] Hafd I |

ol e e <Ry Py wf T F -

(1)  (A)"E (R) 399 S0E, T3 (R), (A) 30959 H97] ST Hfd|

(2) (A) vy (R) 394 Hegufe, T (R), (A) 30000 |em] =mel 3 7|
(3)  (A) \EwE e (R) 59 Tl
(4) (A) | Tife T (R) w=mfa)

Options :

92090624209. 1
92090624210. 2
92090624211. 3
92090624212. 4



Question Number : 53 Question Id : 9209066122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AY: FYEE e, TR siieee (A) S5, I0 7= s (R) #fE)

AiFeTg (A) . FodeE AT A |
wvH (R) T EAeEE AT HatT I |

ST FATGAAIA St Ty faswedy wfae 3w g -

(1) (A uE (R) 394 Heaufed, ud (R), (A) $006 He] i i |
(2)  (A)vEH (R) 399 seawie, & (R), (A) S0 5997 311 A F00|
(3) (A "awiE g (R) 89 TifE)
(4)  (A)\™ Tife 1 (R) F=mfE)
Options :
920906242009. 1
92090624210. 2

92090624211. 3
92090624212. 4

Question Number : 54 Question Id : 9209066123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y: Fugd oA, v s (A) #fE, 3R 7= S0 (R) st
Afgwey (A) : 929 w91 ¥ APiFaa d i wat= |

w0 (R) : eH A1 4 ATt o A 9@ |

ITF FegAA 31Ut Ty fasery wgfaan W A -

(1)  (A)TE (R) 39 aemied, W@ (R), (A) $096 T A1 F0T|

(2)  (A)wEq (R) 399 HeufE, & (R), (A) S0 59 =0T 4 H0d|
(3) (A 5w 1 (R) 89 T

(4) (A |= T e (R) s
Options :
92090624213. 1
92090624214. 2
92090624215.3



92090624216. 4

Question Number : 54 Question Id : 9209066123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y: Fugd oA, v s (A) #fE, 3R 7= S0 (R) st
Afgwey (A) : 929 w91 ¥ APiFaa d i wat= |

w0 (R) : eH A1 4 ATt o A 9@ |

ITF FegAA 31Ut Ty fasery wgfaan W A -

(1)  (A)TE (R) 39 aemied, W@ (R), (A) $096 T A1 F0T|

(2)  (A)wEq (R) 399 HeufE, & (R), (A) S0 59 =0T 4 H0d|
(3) (A 5w 1 (R) 89 T
(4) (A |= T e (R) s

Options :

92090624213. 1

92090624214. 2

92090624215. 3
92090624216. 4

Question Number : 54 Question Id : 9209066123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥9: wugd faea, v sl (A) i@, s 73 S0 (R) S|

Aigweq (A): 929 591 9 AFIHA d AT w8t |
HA (R) : deF Hl 4 Al 4 e gai= )

ST FegEiA St Ty fasery wafaem s o -

(1)  (A)TE (R) 39 Aegufed, 1@ (R), (A) 50950 TR SITEd] Fi|
(2)  (A) wEq (R) 399 5emfdE, & (R), (A) 50969 5999 =401 4 F00d|
(3) (A 5w &1 (R) 8 T

(4) (A "= T 1 (R) semfE)
Options :
92090624213. 1



92090624214. 2
92090624215. 3
92090624216. 4

Question Number : 55 Question Id : 9209066124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y: Fugd ed, v sl (A) @, 3R 7= S0 (R) #fE)
AR (A):  SRHTEHEEAAN T |
FH (R) : s FemgsEa A= fomn mafafa wfagefea fegmifagr

s o e <y faey e I e -

() (A" (R) 3 aamfed, 1@ (R), (A) 596 990 sl S|

(@) (A wE (R) 39 Ff, R (R), (A) S07e | =i 1 |
(3)  (A) 5 = (R) 509 Al

(4) (A =d TifE g (R) gemfE)

Options :

92090624217. 1
92090624218. 2
92090624219. 3
92090624220. 4

Question Number : 55 Question Id : 9209066124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y. Fugd e, g wiimee (A) #fE, 3R 73 S0 (R) #iE)
Afreag (A) :  STERETSEHEAAN T |
H (R) : S = qeE fgun matufa sfagnfa fegudfagr |

S g i 7 ey w3 o -

() (A)TE (R) 39 |Gfed, 1@ (R), (A) 30070 90 A1 |

(@) (A (R) 3@ Ffe, 76 (R), (A) $770 S =gl 1 |
(3)  (A) "eufE e (R) 90 Tl

(4) (A == TifE fe (R) seamfeE

Options :

92090624217. 1
92090624218. 2
92090624219. 3
92090624220. 4

Question Number : 55 Question Id : 9209066124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY: Fugd faed, g sl (A) #fE, W 7= S (R) #iE)
AFTg (A): WA AN |
FWH_ (R) : ST e T fgun wafta sfagnta fegaifagr |

STF FUFEANA 3141 7Y faery wgfaa s -

() (A)WE (R) 3 Gcwfed, T8 (R), (A) 3000 90 AT S|

(@) (&) T (R) 398 a9, R (R), (A) 3070w =amedi 1 |
(3) (A 5w e (R) 50 A1)

(4) (A =51 Tifw e (R) semfeE

Options :

92090624217. 1
92090624218. 2
92090624219. 3
92090624220. 4



Question Number : 56 Question Id : 9209066125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W w4 e, v SfTRT (A) SifE, FR 73 S (R) #iEE)

ATFTH (A):  TOETHY TEEETE: TEEISE |
W (R) : SRy HierE: st |

i w2 faey w3 fe -

(1) (A W@ (R) 339 5o, @ (R), (A) 30950 9] =40Ed] Hiiid|
(2)  (A)wEH (R) 399 5eawfd, 7 (R), (A) 50998 599 =0T 4 F0d|
() (A) gewfE fmeg (R) & Aif)
(4)  (A) 8™ A 1 (R) Fem)
Options :
92090624221. 1
92090624222. 2

92090624223 3
92090624224. 4

Question Number : 56 Question Id : 9209066125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: U Hod, v whiEeEy (A) #fE, 3W 79 FR0H (R) #fE)

AMFT (A) . TOETEHY TEEETE: TEEIsE |

O (R) : HITETFTHY ®iArH: fHgist |

o e o 73 faaey waf I -

(1) (A) W@ (R) 39 demied, U@ (R), (A) S8 H9] A1 0t

(2) (&) wEH (R) 39 Hegafe, g (R), (A) $0980 99 =amedi A AT |
(1) (A) Fewf e (R) & AifE)

(4) (A = TifE fee (R) BemfE)

Options :



92090624221. 1
92090624222. 2
92090624223. 3
92090624224. 4

Question Number : 56 Question Id : 9209066125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W FAET ed, v sfawT (A) 3T, FR 738 FEE (R) #E)

AMFTH (A) .  TUEPHY TEEEIE: TEGISE |

F0H  (R) : STERATTHY e fagishE |

I FUAZEIAE e gy fehedy wgiEay I e -

(1) (A" (R) 3@ 5w, @ (R), (A) 3095 T3] =1 Fid1

(2) (A) TEH (R) 394 "o, ) (R). (A) 3005 990 =) 3 &0
(3)  (A) 5w 4 (R) 89 Tl

(4) (A "™ T e (R) S|

Options :

92090624221. 1
92090624222. 2
92090624223. 3
92090624224. 4

Question Number : 57 Question Id : 9209066126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w9 FHygd oA, v sfimreEn (A) sf@, W 7= Fom (R) #fE)

Afawgay (A) . wfaaE wiEE wiE i |
FUH (R) : HErETE At Wiaw: e

i w0 faey w3 fo -

(1) (A& (R) 399 Femied, @ (R), (A) 50950 a7 sq0ed] i
(2)  (A) vEq (R) 399 5w, & (R), (A) 3099 599 =01 A F00|
(3) (A) gt e (R) 5+ i)
(4) (A 79 TR TR (R) semfE)
Options :
92090624225. 1
92090624226. 2

92090624227. 3
92090624228. 4

Question Number : 57 Question Id : 9209066126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FUgE o, v iR (A) @@, 3R = S0 (R) @)

AR (A) : T S e i |
FH (R): HErETE ATt wfaemm: Fe |

T I i 7Y faey waf T e -

(1) (A 9 (R) ¥ gemied, @ (R). (A) 3095 T9] =0l Fd1
(2) (A) vaq (R) 394 Hegufe, o (R), (A) 30000 |em] =] 3 S|
(3)  (A) 5w 9 (R) 909 Tl
(4)  (A) "= T e (R) BeamfE)
Options :
92090624225. 1
92090624226. 2

92090624227. 3
92090624228. 4



Question Number : 57 Question Id : 9209066126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FUgE o, v iR (A) @@, 3R = S0 (R) @)

AR (A) : T S e i |
FH (R): HErETE ATt wfaemm: Fe |

ITH FYAgANEE A9 gy fasmeuy wgiEay I faa -

(1) (A 9 (R) ¥ gemied, @ (R). (A) 3095 T9] =0l Fd1
(2)  (A) wEy (R) 398 HewieE, B (R), (A) S0o0 5o =0sd 4 F00d|
(3)  (A) 5w 9 (R) 909 Tl
(4)  (A) "= T e (R) BeamfE)
Options :
92090624225. 1
92090624226. 2

92090624227. 3
92090624228. 4

Question Number : 58 Question Id : 9209066127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ wugd faed, v sfimee (A) @, 6 73 S (R) s

AT (A):  JOUIAAEY B TEIHIE |

HOH (R) : HTHEARTEATIY SR JoorEl faed |

Il FegENTa ST Ty faeey wgfaey I R -

(1) (M) TE (R) 390 afe, W@ (R), (A) 306 990 ATl 01|

(2)  (A) mEq (R) 394 "omtE, & (R), (A) 709 |90 =9 3 F:00d |
(3) (A mEmiE e (R) 50 Aif)

(4) (A == TifE e (R) semfE)

Options :
92090624229. 1



92090624230. 2
92090624231. 3
92090624232. 4

Question Number : 58 Question Id : 9209066127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥ wugd faed, v sfimee (A) @, 6 73 S (R) s

AT (A):  JOUIAAEY B TEIHIE |

H0H  (R) AT AT STEARTY JeerEl faEe |

IYYF FHYAgANTAE A4 gy faweuy agfaad 3 oA -

(1)  (A)UE (R) 39 aufed, @ (R), (A) 5095 HEA] SITE] Fiid|

(2)  (A) mEq (R) 394 "omtE, & (R), (A) 709 |90 =9 3 F:00d |
(3) (A g & (R) 8 A0

(4) (A 8= T 1 (R) semfE)

Options :

92090624229. 1
92090624230. 2
92090624231. 3
92090624232. 4

Question Number : 58 Question Id : 9209066127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 FwgAgd oA, v sfimreEm (A) 31f@, 30 79 $m (R) #fE)

Ay (A): QOSSN Fe TR |

w0, (R) : HTOGATTEALIY FFARY JeeiE] faed |

S e s 73 faey waf T -

(1)  (A) W (R) 39 i, W6 (R), (A) §098 HO =ATedi 4t |

(2)  (A) wEH (R) 294 "ofE, & (R), (A) 57090 990 =i 4 F00d |
(3) (A) gawfe T (R) & i)

(4) (A 8™ i 6= (R) s

Options :

92090624229. 1
92090624230. 2
92090624231. 3
92090624232 4

Question Number : 59 Question Id : 9209066128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY FYAgd e, TR siimTEn (A) ST, SR 7= w1 (R) #E)

Atawa (A) 0 = fad 3 Wawl waEE st e S |
0 (R) Tl ALl SammiE e i i )

I FUTFENEE 9 gy fawery wgfEey I e -

(1)  (A)"E (R) 33 aemie, @ (R), (A) 3090 T9=0] A1 |

(2 (A) @ (R) 39 G, R (R), (A) 0068 5em =aredi A |
(3)  (A) 5 = (R) 909 A1)

(4)  (A) "= T e (R) BemiE)

Options :

92090624233. 1
92090624234. 2
92090624235. 3
92090624236. 4



Question Number : 59 Question Id : 9209066128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY FgAgd fHeA, vy sty (A) sifE, SR T2 Fom (R) #E)

shawgag (A) ;= fed 3 wunl v st wrEa A |
HA (R): AT AWEE s ZamiE T s e i |

ITF FuTgEA St 7y fasery wnfae s -

(1) (A E (R) 39 guied, @ (R), (A) 5098 T ] |

(2)  (A) wEq (R) 294 AemiE, B (R), (A) 5700 990 = 3 S|
(3)  (A) "eufE foe (R) 57 A1)

(4)  (A) 8™ i 1 (R) SemiE)

Options :

92090624233. 1
92090624234. 2
92090624235. 3
92090624236. 4

Question Number : 59 Question Id : 9209066128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY FYAgd e, TR siimTEn (A) ST, SR 7= w1 (R) #E)

Atawa (A) 0 = fad 3 Wawl waEE st e S |
HHo, (R) : JeHT ARSI S aHe i e At )

I FUTFENEE 9 gy fawery wgfEey I e -

(1)  (A)"E (R) 33 aemie, @ (R), (A) 3090 T9=0] A1 |

(2) (A wEq (R) 394 Wi, & (R), (A) 300 590 =re 3 F00d|
(3)  (A) 5 = (R) 909 A1)

(4)  (A) "= T e (R) BemiE)

Options :



92090624233. 1
92090624234. 2
92090624235. 3
92090624236. 4

Question Number : 60 Question Id : 9209066129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A @AfEdeHl e A

(A) HE L

(B)  WAREH

(Cy =

Dy fowEsaaEE:

(E)  3memaq

w1 gy fameuy w3 faaa -

(1) (B), (A), (C), (E), (I) (2) (B), (C), (D). (E), (A)

(3) (C), (D), (A). (B), (E) (4) (A), (C), (D), (E), (B)
Options :

92090624237. 1
92090624238. 2
92090624239. 3
92090624240. 4

Question Number : 60 Question Id : 9209066129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR T -

(A) @9 q

(B)  WeIREUH

(C) =

(D) TawEssamiE:

(E)  Aeagaq

w1 Zy fasery w3 299 -

(1) (B (A) (C), (E), (D) (2 (B), (C). (D), (E), (A)

(3  (C) (D), (A), (B), (E) (4) (A} (C), (D). (E), (B)
Options :

92090624237. 1
92090624238. 2
92090624239. 3
92090624240. 4

Question Number : 60 Question Id : 9209066129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THd AfEde %we faaa-

(A) ©FF

(B)  WeHEUTg

(C) 3=

Dy fawrsamiEE:

(E) 3oy

wel gay feeedy w3 faga -

(1)  (B), (A), (C), (E), (D) (2) (B), (C), (D), (E), (A)

(3)  (C), (D), (A), (B), (E) (4) (&), (C), (D), (E), (B)



Options :

92090624237. 1
92090624238. 2
92090624239. 3
92090624240. 4

Question Number : 61 Question Id : 9209066130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ny " Eq’ E .

(A) H

(B)  ©mIg:

(C)  WToTET:

(D) YEER:

(E) =g

Fe gy farspetry w3 faa -

(1) (E), (D}, (A), (B). (C) (2) (E), (D, (C), (B), (A)

(3 (C), (D), (A), (E). (B) (4) (C), (B). (D), (A), (B)
Options :

92090624241. 1
92090624242. 2
92090624243 3
92090624244. 4

Question Number : 61 Question Id : 9209066130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S

FATETH] #9 fEA -

(A)  gEEm

(B)  =m|rg:

(Cy W

(D)  WeFmER:

(E) =mFq

(1) (E), (D), (A). (B, (C) (2) (E), (D), (C), (B), (A)
(3 (O), (D), (A). (E). (B) (4) (C), (B), (D). (A), (B)

Options :

92090624241. 1
92090624242. 2
92090624243. 3
92090624244. 4

Question Number : 61 Question Id : 9209066130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y " m; E .

(A =g

(B)  Hu:

(C)  womEm:

(D) YHETER:

(E) &y

F1 gy faseay Wi 3 o -

(1) (E), (D), (A), (B), (C) (2) (E), (D). (C), (B). (A)
(:3) (C), (D), (A). (E), (B) (4) (C), (B), (D), (A), (B)

Options :



92090624241. 1
92090624242. 2
92090624243. 3
92090624244. 4

Question Number : 62 Question Id : 9209066131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEFETHEE WEd: JaEEDy FEE A A

(A) F=AT

(B) T:

(€  =AFEs:

(D) fooo:

(E) &=

e oy faseuy A I oA -

(1)  (C), (E), (D), (B), (&) (2) (B), (D), (C), (E), (A)

(3) (D). (A), (C). (B). (E) (4) (D), (B). (E). (A), (C)
Options :

92090624245. 1
92090624246. 2
92090624247. 3
92090624248. 4

Question Number : 62 Question Id : 9209066131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SEFRTHAE WEA: 9REEIy HEE F E-

(A) =

(B) T

(C) s

(D) e

(E) 9

et Y forey Tt I foge -

() (C). (B), (D). (B), (A) (2) (B, D), (O), (B), (A)

(3) (D), (A). (C). (B). (E) (4) (D), (B). (E). (A), (C)
Options :

92090624245. 1
92090624246. 2
92090624247. 3
92090624248. 4

Question Number : 62 Question Id : 9209066131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEFETHEZ WEA: YHEEy e 3 faga-

(A) =

(B) =

Cy wF=g:

(D) Taw;

(E) Hd:

el Zoy faseuy w3 oA -

(1) (C), (E), (D), (B). (A) (2) (B), (D), (C), (E), (A)
(3) (D}, (A), (C), (B), (E) (4) (D), (B), (E). (A), (C)

Options :



92090624245. 1
92090624246. 2
92090624247. 3
92090624248. 4

Question Number : 63 Question Id : 9209066132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qg HWfasmIn #H faaa-

(A) v

(B) 3

() fawm:

(o) e

(E) ferepiomy

A1 Zoy faseay A=Ay I A -

(1) (B). (), (A), (E), (D) (2) (C). (D), (B), (E), (A)

(3 (), (A), (E), (B), (D) (4)  (A) (C), (E), (A), (B)
Options :

92090624249. 1
92090624250. 2
92090624251. 3
92090624252. 4

Question Number : 63 Question Id : 9209066132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 HfasRrT #E faa-

(A)  Toverom

(B)  1=mg:

(C) fa=m:

(D) T

(E) faedmm

FHl Zoy faey wdEEy I faa -

(1) (B), (O, (A), (E), (D) (2) (C), (D), (B), (E), (A)

(3) (C), (A), (E). (B), (D) (4) (A), (C), (E), (A), (B)
Options :

92090624249. 1
92090624250. 2
92090624251. 3
92090624252. 4

Question Number : 63 Question Id : 9209066132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 HfEsRrT FH faA-

(A)  foverom

(B) HEH:

() fa=m:

(D)  famm:

(E)  faiom

7ot 2 Pty e 3 o -

(1) (B), (C), (A), (E), (D) (2) (C), (D), (B), (E), (A)

(@ (C), (A), (E), (B), (D) (4)  (A), (C), (E), (A), (B)
Options :

92090624249. 1



92090624250. 2
92090624251. 3
92090624252. 4

Question Number : 64 Question Id : 9209066133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AEHEFTIER. A 9 3 -

(A)y 3=l

(By fonm:

(C) =i

Dy =

(E)y 91

e 7y faeeuy i o o -

(1) (C), (D), (E)., (A). (B) (2) (E), (D), (B), (C), (A)

{:3) (E), (C), (I, (B), (A) (4) (D), (B), (A), (C), (E})
Options :

92090624253. 1
92090624254. 2
92090624255. 3
92090624256. 4

Question Number : 64 Question Id : 9209066133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TEHEFHEIAT. WEa: T HE -

(A) =

(B) fom:

(Cy  sr=wdm

o ==

(E)y ™

1 gy farsey i 3w e -

(1) (C), (D), (E), (A), (B) (2) (E). (D). (B). (C), (A)

(3)  (E), (C), (D), (B). (A) (4) (D), (B (A), (C), (E)
Options :

92090624253. 1
92090624254. 2
92090624255. 3
92090624256. 4

Question Number : 64 Question Id : 9209066133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEHEFHEIAT. WEa: T HE -

(A) =l

(B) fanm:

(C) A=

o =&

(E)

w1 gy fawery wfeem o faaa -

(1) (C), (D), (E), (A). (B) (2) (E), (D). (B). (C). (A)
(3) (E), (C), (D), (B), (A) (4) (D), (B). (A), (C), (E)

Options :



92090624253. 1
92090624254. 2
92090624255. 3
92090624256. 4

Question Number : 65 Question Id : 9209066134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR, ASAE 34 faa-

(A) THIAA:

(B) 9m@EE:

(Cy g

(D)  AdAw:

(E) HETdA:

41 zwy fawery B I faa -

(1) (C), (E), (B), (A). (D) (2) (E), (D). (C), (A), (B)

(3) (C), (B), (A), (D), (E) (4) (C), M), (A), (E), (B)
Options :

92090624257. 1
92090624258. 2
92090624259. 3
92090624260. 4

Question Number : 65 Question Id : 9209066134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AR, A 6 a0 -

(A) @EE:

(By  HrerE:

(Cy I

(D) AAEA:

(E)  Hemd:

areht 2y Foesctrg a3 Fog -

(1) (C), (E), (B), (A), (D) (2) (E), (D), (C), (A), (B)

(3)  (C), (B), (A), (D). (E) (4) (C), (D), (A), (E), (B)
Options :

92090624257. 1
92090624258. 2
92090624259. 3
92090624260. 4

Question Number : 65 Question Id : 9209066134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR, ASAE 34 faa-

(A)  HWEA:

(B)  TmATHA:

(C) A

(D)  AATA:

(E) EEGEE

A1 gy fosheTy HHEAY I A -

(1) (C), (E), (B), (A), (D) (2) (E), (D), (C), (A), (B)
(3) (0, (B), (A), (D), (E) (4) (C), (D), (A), (E), (B)

Options :



92090624257. 1
92090624258. 2
92090624259. 3
92090624260. 4

Question Number : 66 Question Id : 9209066135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AgsTaEg AT g AT % faga-
(A)  wfETEm:
(B)  TvEATTHIEM:

(C)  EarEEsiEseEm:
(D)  EF-sHaaEarEm:

(E) m

#eT Ty Feedy Al I -

(1) (C), (D), (B), (A), (E) (2) (A), (D), (B), (E), (C)

(3 (A), (E), (D), (B). (C) (4) (B), (C), (E), (D), (A)
Options :

92090624261. 1
92090624262. 2
92090624263. 3
92090624264. 4

Question Number : 66 Question Id : 9209066135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AguTEg AT SareETaH %H faga-

(A)  wiFEm:

(B)  TurEfaywREm:

(C)  SETHHEMIENrTE:

(D)  EF-EHAF AT

(E) S

w41 gy faweuy |y 3w faqa -

(1) (C), (D, (B), (A), (E) (2) (A), (D). (B), (E)., (C)

(3)  (A), (E), (D), (B), (C) (4)  (B), (C), (E), (D), (A)
Options :

92090624261. 1
92090624262. 2
92090624263. 3
92090624264. 4

Question Number : 66 Question Id : 9209066135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AugTEgaTg A #H fagA-

(A)  wfErEm:

(B)  TurErEfasE:

(C)  SarErEwigYEm:

(D)  EF-SEFEIrE:

(E) S

w41 gy faweuy |y 3w faqa -

() (O), D), (B), A). (B) (2 (A), (D). (B), (), (C)

(3 (A, (E), (D), (B), (C) (4)  (B), (C), (E), (D), (A)
Options :

92090624261. 1
92090624262. 2
92090624263. 3



92090624264. 4

Question Number : 67 Question Id : 9209066136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A T §0A dqged S | 7

() H= (2) ¥
(3) HaT9: (4) ﬁﬁm
Options :

92090624265. 1
92090624266. 2
92090624267. 3
92090624268. 4

Question Number : 67 Question Id : 9209066136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A T §0A dqged S | 7

(1) A= (2) e
(3) HaT9: (4) ﬁﬁm
Options :

92090624265. 1
92090624266. 2
92090624267. 3
92090624268. 4

Question Number : 67 Question Id : 9209066136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T A T §0A dqged S | 7

() H= (2) ¥
(3) HaT9: (4) ﬁﬁm
Options :

92090624265. 1



92090624266. 2
92090624267. 3
92090624268. 4

Question Number : 68 Question Id : 9209066137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g srragiaml fagfaam. i e =dqd 7

(1) wEIS=R (2) ISR
(3)  FEmsEE (4) TAmsSEE
Options :

92090624269. 1
92090624270. 2
92090624271. 3
92090624272. 4

Question Number : 68 Question Id : 9209066137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A seragriiamal fagfaam. wfee sem adq4d 7

(1) SEIS=E (2) TEMISEE
(3) ANsEE (4) TAWMSEE
Options :

92090624269. 1
92090624270. 2
92090624271. 3
92090624272. 4

Question Number : 68 Question Id : 9209066137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g srragiaml fagfaam. i e =dqd 7
(1) wEIS=R (2) ISR

(3)  FEmsEE (4) TAmsSEE

Options :



92090624269. 1
92090624270. 2
92090624271. 3
92090624272. 4

Question Number : 69 Question Id : 9209066138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T - I - JoE - IETESEEY F4 U9 WAE: 3980 7

(1)  gAfEEuEE (2) wieadag
(3) fegwim (4) FEgraiE
Options :

92090624273. 1
92090624274. 2
92090624275. 3
92090624276. 4

Question Number : 69 Question Id : 9209066138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T -39 -0 - TG U0 T 39 7

(1)  HACEEEE (2) wiEaHEa
(3) fegudi= (4) TESHE
Options :

92090624273. 1
92090624274. 2
92090624275. 3
92090624276. 4

Question Number : 69 Question Id : 9209066138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T - 3 - =0T - TG 5 U0 A9 g9 7

(1)  HACEaEE (2) wieadEg
(3) fegwim (4) TR



Options :

92090624273. 1
92090624274. 2
92090624275. 3
92090624276. 4

Question Number : 70 Question Id : 9209066139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afewfagr afeag wafa-

(1 = (2) wEH
(3) Wi (4) FrefE:
Options :

92090624277. 1
92090624278. 2
92090624279. 3
92090624280. 4

Question Number : 70 Question Id : 9209066139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfeswfag afeagR= wafd-

(1 (2) wEH
(3) W (4) FFE:
Options :

92090624277. 1
92090624278. 2
92090624279. 3
92090624280. 4

Question Number : 70 Question Id : 9209066139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
dfemfagr At wafa-
(1) EiCE (2) %EH
3 v (4)



Options :

92090624277. 1
92090624278. 2
92090624279. 3
92090624280. 4

Question Number : 71 Question Id : 9209066140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“armfeta vd:' 3T = TREEwE: 7

(1) HeI= (2) EEEIT=
(3)  wges= (4) TomEESE=E
Options :

92090624281. 1
92090624282. 2
92090624283. 3
92090624284. 4

Question Number : 71 Question Id : 9209066140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“armiete O’ 34 FE R 7

(1) HeI= (2) SEfsE
(3)  HZEE= (4) woEE=E
Options :

92090624281. 1
92090624282. 2
92090624283. 3
92090624284. 4

Question Number : 71 Question Id : 9209066140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



“grmietE vd:' 5 S TREEiwE: 7

(1)  Sese= (2) SsifaFesi=
(3)  HZEE= (4) woEE=E
Options :

92090624281. 1
92090624282. 2
92090624283. 3
92090624284. 4

Question Number : 72 Question Id : 9209066141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eieade sfemahny: &: 7

(1)  THEH (2) =TEE:
(3) =& (4) FO:
Options :

92090624285. 1
92090624286. 2
92090624287. 3
92090624288. 4

Question Number : 72 Question Id : 9209066141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wregie faaadny: &: 7

(1)  TEEvY (2) @EE:
(3 (4) F:
Options :

92090624285. 1
92090624286. 2
92090624287. 3
92090624288. 4

Question Number : 72 Question Id : 9209066141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Eieade sfemahny: &: 7

(1) TR (2) aEEE:
(3 (4) F:
Options :

92090624285. 1
92090624286. 2
92090624287. 3
92090624288. 4

Question Number : 73 Question Id : 9209066142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTAH Efd-

(1)  =aifaem: (2) wpEd
(3)  FgEEeTy (4) =F=ZEH
Options :

92090624289. 1
92090624290. 2
92090624291. 3
92090624292. 4

Question Number : 73 Question Id : 9209066142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHIEHEH AaTd -

(1)  =HfaEm: (2) wfEEd
(3)  EETEET (4) =T=ZEH
Options :

92090624289. 1
92090624290. 2
92090624291. 3
92090624292. 4

Question Number : 73 Question Id : 9209066142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

FHEEH Yafd-

(1)  =gifaem: (2) WP
(3)  EEEEeTy (4) =EETH
Options :

92090624289. 1
92090624290. 2
92090624291. 3
92090624292. 4

Question Number : 74 Question Id : 9209066143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TreETe: w avE fagra:

(1)  Su= (2) wgaiE
(3) I (4) FoEPEEE
Options :

92090624293. 1
92090624294. 2
92090624295. 3
92090624296. 4

Question Number : 74 Question Id : 9209066143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T yiE o

(1) = (2) wigodE
(3)  AEEEEEHE (4) FwEPEEEE
Options :

92090624293. 1
92090624294. 2
92090624295. 3
92090624296. 4



Question Number : 74 Question Id : 9209066143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R T yiE o

(1)  SHud= (2) wgaEe
(3)  AEEEEEHE (4) FwEPEEEE
Options :

92090624293. 1
92090624294. 2
92090624295. 3
92090624296. 4

Question Number : 75 Question Id : 9209066144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  FHAaHAgEm (2) SEaH
(3  Tomgaom (4) SH=Em
Options :

92090624297. 1
92090624298. 2
92090624299. 3
92090624300. 4

Question Number : 75 Question Id : 9209066144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TTYESEE: ¥ g JEg: 7

(1)  EFgHAgdEn (2) dEgdu
(3 Ty (4) SHgET
Options :

92090624297. 1
92090624298. 2
92090624299. 3



92090624300. 4

Question Number : 75 Question Id : 9209066144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATIHWEE: - YT g 7

(1)  #FamEgEy (2) FrEgHu
(%)  Tomgarom (4) FFgdm
Options :

92090624297. 1
92090624298. 2
92090624299. 3
92090624300. 4

Question Number : 76 Question Id : 9209066145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AagrTagiaml Hia AEmE: A= 7

(1) e — AT (2) HEIN-H=En:
(3)  STEEY- e (4) TAEH - FA:
Options :

92090624301. 1
92090624302. 2
92090624303. 3
92090624304. 4

Question Number : 76 Question Id : 9209066145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHgATEgIaE Hid AEmE: a7

(1) HT g - AT (2) ETE— 3T

(3)  STETEH- 3T (4) HEH-AAT:

Options :



92090624301. 1
92090624302. 2
92090624303. 3
92090624304. 4

Question Number : 76 Question Id : 9209066145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sfmgaTagamE #id AwmE: af=?

(1) e — AT (2) HEIN-3=En:
(3) BTG - e (4) Y= -AEEI:
Options :

92090624301. 1
92090624302. 2
92090624303. 3
92090624304. 4

Question Number : 77 Question Id : 9209066146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FY: HYAgy o -

wyA (1) "giwaErmEy Fes-HHerd faa=- e |
F (1) : =rgad v ga-Teem-waamiem e et

I FUAEEAA I gy fasery agfaey I A -
(1) =% () U6 2 (11) 399 Femfe|

(2) G (D) TE FE (1]) 3990 i |

(3) R () gt g w9 (1) FHeEmtE|

(4)  FEH (1) FEEwEa 5 w99 (11) Femte)

Options :

92090624305. 1
92090624306. 2
92090624307. 3
92090624308. 4



Question Number : 77 Question Id : 9209066146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y- FuAgg foed -

Fuq (1) FGaErEEY TEE-SFerd faa=r e |
HYAY (1) - =rgud I oA - famn-aemeisemr ffaa safa )

I FUAGAANAE Wl Gy fashedy AYfEa I A -
(1) =¥ (1) T8 F299 (1) 399 Feamil
(2) G (1) T FE (1) 3990 FEAHTE |
(3)  wR () 9t g g (1) SFHaEmtE|
(4)  FEH (1) FEEniEa 6 w9F (11) Femte)
Options :
92090624305. 1
92090624306. 2

92090624307. 3
92090624308. 4

Question Number : 77 Question Id : 9209066146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 FgAgd faed -

wo (1) FEHAErEEY FE6-H6eTd fad= [ged |
HyAn (1) - =gad e 8- fomn-wemier ffaa waf )

I FUAGAAIAE il gy faseuy Agfuay I A -
(1) Y (1) @ F999 (1) 399 deamieal

(2) G (1) TE HEAY (1]) 3990 FEui |

(3) g () gawiE o w999 (1) FEmE|

(4)  wEAY (1) sEcEuE e w9E (1) gemf)

Options :

92090624305. 1
92090624306. 2
92090624307. 3
92090624308. 4



Question Number : 78 Question Id : 9209066147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AY: Foagg FEd -

FU (1) - Tad sfEaEEs Fea e |

HYTH (1) : 994 GG Heqdl AT |

I FHYAZAIGE Al gy faweny wyfEay 3w A -
(1) =% (1) Ud w599 (I1) 399 Feamteal

(2)  HY (1) Ud FYAY (11) 3999 SEenfe |

(3) A (1) geaHtea g ued (1) sEemie|

(4)  &EY () wEEE e w9 (1) g=miE)

Options :

92090624309. 1
92090624310. 2
92090624311. 3
92090624312. 4

Question Number : 78 Question Id : 9209066147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AY: Foagg FEd -

FU (1) - Tad sfEaEEs Fea e |

HYTH (1) : 994 GG Heqdl AT |

I FHYAZAIGE Al gy faweny wyfEay 3w A -
(1) =% (1) Ud w599 (I1) 399 Feamteal

(2)  HY (1) Ud FYAY (11) 3999 SEenfe |

(3) A (1) geaHtea g ued (1) sEemie|

(4)  &EY () wEEE e w9 (1) g=miE)

Options :

92090624309. 1
92090624310. 2
92090624311. 3
92090624312. 4



Question Number : 78 Question Id : 9209066147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FHuAgg e -
Fa (1) : 9 sfEEEEs Fea & |

HYA (I1) : 990 TerTered Hed 1 A1 |

I HYAGANIA 341 gy faseqy Fufaay I e -
(1) =9 (1) T8 59 (I1) 39 Feamied|

(2) = (1) vd S (11) 399 ST |

(3) A (1) gedtE g Haed (1) sEmmtel

(4) =AY () FEEEE g weE (1) FEmtEE)

Options :

92090624309. 1
92090624310. 2
92090624311. 3
92090624312. 4

Question Number : 79 Question Id : 9209066148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: FIHgd Taed -
o () :  F2= foan-wenfedes vegm 5=
wa (1) :  o¥ TasmemeER o W gl a3 |

TR FYTgEa 41 goy faery FgfEan I A -
(1) %A (1) T H9 (I1) 397 Feamfed |

(2)  F (D) T FE (I]) 99 S |

(3 FE () gt g w9 (1) sl

(4)  FEH () FEEnE 6w (1) Femfel

Options :

92090624313. 1
92090624314. 2
92090624315. 3



92090624316. 4

Question Number : 79 Question Id : 9209066148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HUAgY THed -

Fa () :  Fe= a-wenfedes szgmi wfF)
waW (1) :  9¥ TasmEmER i wE gt s |

I FegaEa 91 gy fawedy wgfaay I e -
(1) 9 (1) T F5 (11) 399 Feamte|

(20 FH (D) FAH (D) 399 S|

(3) e () goaaie g e (1) el

(4)  FEH () ¥EEAE 6 ®eF (1) Femfel

Options :

92090624313. 1
92090624314. 2
92090624315. 3
92090624316. 4

Question Number : 79 Question Id : 9209066148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FHYAgg fHed -

o () :  J== fen-Feniedea vegmi 5=
FUA (1) ;o FasmaasEn i o giaffa s |

IHEEF FYAgENa 9l 7oy fawery wfEan 3 o -
() 9 (1) vd w599 (11) 39 Feamiea|

(2) A (1) Ud HE (I1) 999 ST |

(3) = () getea Tog 9 (1) SEemtal

(4)  wuAd () WEEEE e weE (1) F=wiE)

Options :

92090624313. 1
92090624314. 2
92090624315. 3



92090624316. 4

Question Number : 80 Question Id : 9209066149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y FuEgg e -

FUH () :  HEAH SEHVRE Fded A1 3 wgfasm: e
A (1) - FivwEd Jvae andia degwmaEeiama sfaafemate |

IR FHAgIA Wl gy faseuy safaay I faa -
(1) =% (1) T3 F299 ([1) 399 FaniE|

(2)  FYM () vd FYH (11) 3995 FHGTE |

(3) & () g g w999 (1) AEEmfEl

(4)  FZEH () WEEEE 6 ®e4 (11) Femfedl

Options :

92090624317. 1
92090624318. 2
92090624319. 3
92090624320. 4

Question Number : 80 Question Id : 9209066149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#Y: FYEgy foEd -

U () :  HEHTH SEHVRE Sded A1 3 wgfasra: e
FgA (1) :  Fivwd Jvae Frdia dogwmeEeiar sfafemate |

T HYAEEIA 141 gy faswedy wqfEan I e -
(1) %9 () @ F99 (1) 399 Feauie|

(2) w9 (1) v FHAY (I1) 3990 SEamr|

(3)  FE () gemiE g w9 (1) sEemfE)

(4)  FEEH () FEemE e ®eF (1) gl

Options :

92090624317. 1
92090624318. 2
92090624319. 3



92090624320. 4

Question Number : 80 Question Id : 9209066149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: Fegd f9ed -
FUH () :  HEAH SEHVRE Fded A1 3 wgfasm: e
A (1) - FivwEd Jvae andia degwmaEeiama sfaafemate |

I FeAgaHaE A4l &y fawedy dgfaay I A -
(1) &5 (1) w8 F4=9 (I1) 399 Feamie|

(2)  FYM () vd FYH (11) 3995 FHGTE |

(3) & () g g w999 (1) AEEmfEl

(4)  FE () FEEne o ®ua (11) Heamte|

Options :

92090624317. 1
92090624318. 2
92090624319. 3
92090624320. 4

Question Number : 81 Question Id : 9209066150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H=gEEE: 6 amag wafd

(1) T (2) wfaAmgEy
(3) AT (4) dEAHEER
Options :

92090624321. 1
92090624322. 2
92090624323. 3
92090624324. 4

Question Number : 81 Question Id : 9209066150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



H=gEEE: 6 amag wafd

(1) T (2) wfaAmgEy
(3) AT (4) dEAHEER
Options :

92090624321. 1
92090624322. 2
92090624323. 3
92090624324. 4

Question Number : 81 Question Id : 9209066150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H=gEE: & amig wafq

(1) STy (2) wfamgEy
(3)  ITEAEE (4) dgTEEEy
Options :

92090624321. 1
92090624322. 2
92090624323. 3
92090624324. 4

Question Number : 82 Question Id : 9209066151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
sftgurad wfed: Hiafa 7

(1)  TafE:m (2) UERIGEEET
(3)  wmfam (4) wafam
Options :

92090624325. 1
92090624326. 2
92090624327. 3
92090624328. 4

Question Number : 82 Question Id : 9209066151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

g arTEy e Hidfag ?

(1)  Jafam (2) TR
(3)  wfam (4) wafam
Options :

92090624325. 1
92090624326. 2
92090624327. 3
92090624328. 4

Question Number : 82 Question Id : 9209066151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g arTad e st ?

(1)  Fafam (2) USRI
(3)  wefam (4) uafaE
Options :

92090624325. 1
92090624326. 2
92090624327. 3
92090624328. 4

Question Number : 83 Question Id : 9209066152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfEnrl: # = Ad WiEE: 7

(1) v (2) FegArEEE
(3) e == (4) HrarETEEE
Options :

92090624329. 1
92090624330. 2
92090624331. 3
92090624332. 4



Question Number : 83 Question Id : 9209066152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfEnrl: # = Ad WiEE: 7

(1) e (2) IeEATEEE
(3 AEreuEEs (4) HrarETEEE
Options :

92090624329. 1
92090624330. 2
92090624331. 3
92090624332. 4

Question Number : 83 Question Id : 9209066152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qfEnrl: # = Ad WiEE: 7

(1) e (2) IeEATEEE
(3 AEreuEEs (4) HrarETEEE
Options :

92090624329. 1
92090624330. 2
92090624331. 3
92090624332. 4

Question Number : 84 Question Id : 9209066153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TETH] YEEA @, 7 oA T 989 g0 A $9 W 7

(1) N (2) haIMTETE
(3)  FEERUEEITHYE (4) WEHEA
Options :

92090624333. 1
92090624334. 2
92090624335. 3
92090624336. 4



Question Number : 84 Question Id : 9209066153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEHTE] EEHE @, 9 U F 95y oA Ieieanad 3 aEd 7

(1)  SreraMHeR (2) FarEg
(3)  SFEERUEST-ER (4) HETIWA
Options :

92090624333. 1
92090624334. 2
92090624335. 3
92090624336. 4

Question Number : 84 Question Id : 9209066153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TENTEH YEEAE @, J WO gg9 409 seneana $9 0Td 7

(1)  Sr=emEmnEEfe (2) F3mfrafe
(3)  FEERUERMAYG (4) WEMRA
Options :

92090624333. 1
92090624334. 2
92090624335. 3
92090624336. 4

Question Number : 85 Question Id : 9209066154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AreremefiE TEdadiE $9 e e

(1)  =HreEm (2) gritRmEM
(3) TEm (4) IeAEAT
Options :

92090624337. 1
92090624338. 2
92090624339. 3



92090624340. 4

Question Number : 85 Question Id : 9209066154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ArergaRETTaa TEdadE 1 faed

(1) =M (2) giFEEM
(3) =AW (4) IeAEAT
Options :

92090624337. 1
92090624338. 2
92090624339. 3
92090624340. 4

Question Number : 85 Question Id : 9209066154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ArergaRrETiya TadTiE F3 faea

(1) =W (2) griREm
(3) 7AW (4) FeaAra=H
Options :

92090624337. 1
92090624338. 2
92090624339. 3
92090624340. 4

Question Number : 86 Question Id : 9209066155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  TwmE (2) wIE
(3 e (4) HgwrEEEER
Options :

92090624341. 1
92090624342. 2



92090624343. 3
92090624344. 4

Question Number : 86 Question Id : 9209066155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  TmmEs (2) wLEE
(3) AT (4) HmgwTEGIEEH
Options :

92090624341. 1
92090624342. 2
92090624343. 3
92090624344. 4

Question Number : 86 Question Id : 9209066155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  TmmEs (2) wLEE
(3) AT (4) HgwTEgIaEH
Options :

92090624341. 1
92090624342. 2
92090624343. 3
92090624344. 4

Question Number : 87 Question Id : 9209066156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THA FEARE i HA g 7

(1)  ifor wwifor (2) SeaTiC HHIoT
(3)  we-HmIm (4) TA-FHIM
Options :

92090624345. 1



92090624346. 2
92090624347. 3
92090624348. 4

Question Number : 87 Question Id : 9209066156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAHA FEARE Hid HA(0 g6t 7

(1) shfor wifor (2) ST W
(3)  we-HmIm (4) gF-FHAI
Options :

92090624345. 1
92090624346. 2
92090624347. 3
92090624348. 4

Question Number : 87 Question Id : 9209066156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THA FEARE i HA g 7

(1)  ifor wwifor (2) SeaTiC HHIoT
(3)  we-HmIm (4) TA-FHIM
Options :

92090624345. 1
92090624346. 2
92090624347. 3
92090624348. 4

Question Number : 88 Question Id : 9209066157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et
(1 o (2) =
(3 uF (4) ¥

Options :



92090624349. 1
92090624350. 2
92090624351. 3
92090624352. 4

Question Number : 88 Question Id : 9209066157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o B
(1) o (2) ==
(3) | (4) #H4

Options :

92090624349. 1
92090624350. 2
92090624351. 3
92090624352. 4

Question Number : 88 Question Id : 9209066157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay sdaeiy -
(1) s (2) ==
(3 | (4) =4

Options :

92090624349. 1
92090624350. 2
92090624351. 3
92090624352. 4

Question Number : 89 Question Id : 9209066158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GHEFAEE F de9d FET A ¢

(1} SR (2) =HedH
(3 e (4) T=a:



Options :

92090624353. 1
92090624354. 2
92090624355. 3
92090624356. 4

Question Number : 89 Question Id : 9209066158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ] deT2 AT 7

(1) CRIE AU L] (2) T

(3 e (4) T=E:
Options :

92090624353. 1
92090624354. 2
92090624355. 3
92090624356. 4

Question Number : 89 Question Id : 9209066158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR de2d FEanred 7

(1) === (2) HoTE
(3 e (4) T=a:
Options :

92090624353. 1
92090624354. 2
92090624355. 3
92090624356. 4

Question Number : 90 Question Id : 9209066159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) T (2) wafe:
(3) el (4) =qEE:
Options :

92090624357. 1
92090624358. 2
92090624359. 3
92090624360. 4

Question Number : 90 Question Id : 9209066159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THd feameeRR: #fafag: 7

(1) T=fEE: (2) uafa:
(3)  wEfe (4) =afu:
Options :

92090624357. 1
92090624358. 2
92090624359. 3
92090624360. 4

Question Number : 90 Question Id : 9209066159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HAd e Hiafa: ?

(1)  \AfEg: (2) uafa:
(3) el (4) =dfas:
Options :

92090624357. 1
92090624358. 2
92090624359. 3
92090624360. 4

Question Number : 91 Question Id : 9209066160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(1) =g (2) FIHG
(3)  EWaEe (4) FgHEE
Options :

92090624361. 1
92090624362. 2
92090624363. 3
92090624364. 4

Question Number : 91 Question Id : 9209066160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATEE R HIE 98 W 7

(1) T (2) FFEg
(3) =WEE (1) FuEER
Options :

92090624361. 1
92090624362. 2
92090624363. 3
92090624364. 4

Question Number : 91 Question Id : 9209066160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATEE T B 98 W 7

(1) =g (2) FIHG
(3  AWEe (4) FEae
Options :

92090624361. 1
92090624362. 2
92090624363. 3
92090624364. 4

Question Number : 92 Question Id : 9209066161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T FHAE 7

(1) & (2) Jgma
(3) o= (4) wEn
Options :

92090624365. 1
92090624366. 2
92090624367. 3
92090624368. 4

Question Number : 92 Question Id : 9209066161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TEEE Tl &: 7

(1) =@ (2) I
(3 Hed: (4) H=EN
Options :

92090624365. 1
92090624366. 2
92090624367. 3
92090624368. 4

Question Number : 92 Question Id : 9209066161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Ffead &: 7

() & (2) 3gma
(3 = (4) &N
Options :

92090624365. 1
92090624366. 2
92090624367. 3
92090624368. 4

Question Number : 93 Question Id : 9209066162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

e yEfauEfay: %: 7

(1) = (2) ggfaen
(3) A (4) HHmmEY
Options :

92090624369. 1
92090624370. 2
92090624371. 3
92090624372. 4

Question Number : 93 Question Id : 9209066162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHEE gEfaEfaT: %: 7

(1)  wEafaen (2) g
(3)  HTETUE (4) HHHME
Options :

92090624369. 1
92090624370. 2
92090624371. 3
92090624372. 4

Question Number : 93 Question Id : 9209066162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHEE gEAufaEtaT: %: ?

(1)  wafaen (2) Fgfeen
(3)  HEEE (4) HHHTEY
Options :

92090624369. 1
92090624370. 2
92090624371. 3
92090624372. 4

Question Number : 94 Question Id : 9209066163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wfaild F& doe fawm vt 7

(1) I99e3 (2) HHIEH
(3) FEEE (4) Ay
Options :

92090624373. 1
92090624374. 2
92090624375. 3
92090624376. 4

Question Number : 94 Question Id : 9209066163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfaild F& doe fawm vt 7

(1) Igae= (2) THIEE
(3) wEeH (4) FYEETE
Options :

92090624373. 1
92090624374. 2
92090624375. 3
92090624376. 4

Question Number : 94 Question Id : 9209066163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfaild Fe dee fawa wafd 7

(1) aT9Ee= (2) HHEEE

(3 T (4) FuEEEE
Options :

92090624373. 1
92090624374. 2
92090624375. 3
92090624376. 4

Question Number : 95 Question Id : 9209066164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

] der Wiourefayal wafa rafvEmy 7

(1) =W (2) FHTH
(3  HuEEeE (4) FFETH
Options :

92090624377. 1
92090624378. 2
92090624379. 3
92090624380. 4

Question Number : 95 Question Id : 9209066164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] 9gH ViaTrEiayal YAt yErrET 7

(1) HmEEE (2) FoEEHE
(3)  HAudde= (4) WG
Options :

92090624377. 1
92090624378. 2
92090624379. 3
92090624380. 4

Question Number : 95 Question Id : 9209066164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FH 9o Wiorefaydl wafa grafe=T 7

(1) wWEE= (2) FoEeH
(3) HAudde= (4) FIEeH
Options :

92090624377. 1
92090624378. 2
92090624379. 3
92090624380. 4



Question Number : 96 Question Id : 9209066165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“wrn qfa: qEIsE gfgen:” =i 7= o9 fama

(1)  wy=Eae (2) HHEe
(3) THHe (4) g
Options :

92090624381. 1
92090624382. 2
92090624383. 3
92090624384. 4

Question Number : 96 Question Id : 9209066165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(1)  HuE9e (2) HWEE
(3) I (4) =g
Options :

92090624381. 1
92090624382. 2
92090624383. 3
92090624384. 4

Question Number : 96 Question Id : 9209066165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“wrn g qEISE Ifyen:” s A= 1 e

(1)  #gEde (2) HWHEE
(3) TTHEe (4) g
Options :

9209062438]1. 1
92090624382. 2
92090624383. 3
92090624384. 4



Question Number : 97 Question Id : 9209066166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
J5E YA F: A 7

(1)  =HPm: (2) Hrgrm:
(3) = (4) HmmEE:
Options :

92090624385. 1
92090624386. 2
92090624387. 3
92090624388. 4

Question Number : 97 Question Id : 9209066166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e WU &: HiEE 7

(1)  SEPm: (2) wrgEm:
(3 = (4) TS
Options :

92090624385. 1
92090624386. 2
92090624387. 3
92090624388. 4

Question Number : 97 Question Id : 9209066166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT FUEAE : i 7

(1) EEILLE (2) =rgrm:
(3 = (4) mTES:
Options :

92090624385. 1
92090624386. 2
92090624387. 3



92090624388. 4

Question Number : 98 Question Id : 9209066167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g TagIial HETRAE i Tei fowd 7

(1) == (2) oo
(3) T (4)  FTITEATET
Options :

92090624389. 1
92090624390. 2
92090624391. 3
92090624392. 4

Question Number : 98 Question Id : 9209066167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g TagIial HETRAE i Tei fowd 7

(1) == (2) oo
(3) T (4)  FTITEATET
Options :

92090624389. 1
92090624390. 2
92090624391. 3
92090624392. 4

Question Number : 98 Question Id : 9209066167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g TagIial HETRAE i Tei fowd 7

(1) == (2) oo
(3) T (4)  FTITEATET
Options :

92090624389. 1



92090624390. 2
92090624391. 3
92090624392. 4

Question Number : 99 Question Id : 9209066168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H OO WA AZT il waid ¢

(1 fafe (2) fafe

(3)  gafg (4) T
Options :

92090624393. 1
92090624394. 2
92090624395. 3
92090624396. 4

Question Number : 99 Question Id : 9209066168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HFET A 4G Hfata wafd v

(1)  fefasn (2) fafasm

(3)  gafE (4) oA
Options :

92090624393. 1
92090624394. 2
92090624395. 3
92090624396. 4

Question Number : 99 Question Id : 9209066168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T FEE AGT il a7
(1)  fafaen (2) fafawm
(3)  gafam (4) weafam



Options :

92090624393. 1
92090624394. 2
92090624395. 3
92090624396. 4

Question Number : 100 Question Id : 9209066169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IS F A ]

(1) a0 (2) wEdfeAHTE=
(3)  Fi== (4) FHfZEHTEE
Options :

92090624397. 1
92090624398. 2
92090624399. 3
92090624400. 4

Question Number : 100 Question Id : 9209066169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THEES ] E19: 7

(1)  FAFuE= (2) wEdfzatmE=
(3) == (4) wHiZETEE
Options :

92090624397. 1
92090624398. 2
92090624399. 3
92090624400. 4

Question Number : 100 Question Id : 9209066169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIIEC A |9 7
(1)  FAFHTEE (2) =EaEEEE
(3) == (4) wHlZatmEE
Options :



92090624397. 1
92090624398. 2
92090624399. 3
92090624400. 4



